Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions

Double Action Link Clamp model LKA Digest | Cross Section | Specifications Curve Dimensions Option Dimensions | ccessories P.659 K.§MEK

Harmony in Innovation

. High-Power
@ Cross Section Series

Three lever directions available o
Pneumatic Series

T,-—--—- Lever
A
>~

HYdraU“C DOUbIe ACtion Piston  PNAQ [ J x;zz;{lﬁ:ﬁ:‘lir
Li n k C I am p Excellent Coolant Resistance | Larger Range of

Allowable Offset

Manual Operation
Accessories

Link Plate Cautions / Others
Model L KA BZL Speed Control Valve % .
(Sold Separately) (N Hole Clamp
Low Pressure (0.5~7MPa) ~_High Strength e
. Cylinder
High Power - Compact Clamp v Swing Clamp
LHA
LHC
LHS
LHW
LT/LG
TLA-2
Compact Design TLB-2
TLA-1
LKC
LKW
© LM/LJ
Index ( TMA-2
® Compact ﬁo ™~ S
The dimension below flange is shortened by 40 percent to enable thinner ] @) Work Support
Hydraulic Link Clamp Digest P.557 and lighter fixtures. r e
LC
Cross Section P.562 The compact body allows the internal fitting without interference and I Eggfg?itt’ and NG
) ) . . | — : TC
Model No. Indication P563 makes fixture design more engineer friendly. _O——= | nointerference wrsems
Lift Cylinder
Specifications P.564 LLw
. . . c t Cylind
Performance Curve ® High Strength Supporting Point ComesctCylnder
+ Clamping Force Curve P.565 The compact body is able to retain similar clamping and holding forces ttz
- Allowable Offset Graph P.569 by including a high strength supporting point within the body cylinder. DP
. . . . DR
External Dimensions Its strength is the best in the industry, by way of casting. b5
DT
+ Standard Model (LKA) P.573 ,
® Leverin Three Directions Available Tockorrder
+ Double End Rod Option for Dog (LKA-D) P.575 ggé
Lever positioning is available in three directions; L : Left, C : Center, R : Right.
+ Air Sensing Manifold Option (LKA-M) P.577 . o
As seen from the port side. Centering Vise
+ Air Sensing Piping Option (LKA-N) P.579 Ezgi
- Quick Change Lever Type A (LKA-A) P.581 ® Excellent Coolant Resistance FvC
. . . . . Control Valve
Air Sensing Option P583 Our exclusive dust seal is designed to protect against high pressure coolant. L
) ) ) It also has high durability against chlorine-based coolant by using a sealing BZT
Lever Design Dimensions P.585 material with excellent chemical resistance. BaxnzG
Accessories Pallet Clamp
Vs
+ Material Link Lever for LKA P.586 vt
® A Larger Range of Allowable Offset ion Locating Pi
- Speed Control Valve+Plug P.891 9 9 7&””5'?5@“”9 o
High strength link plate option is available for larger tolerance. Larger Ve
+ Manifold Block (Common Items of Other Models) P.1217 Range of
Allowable VFJ
Cautions Offset VFK
- Notes for Hydraulic Link Clamps P.659 ® Able to Attach Speed Control Valve Directly %
- Cautions (Common) P.1237 When fitting the gasket (-C option), it is able to attach the speed control valve . FQ -
* Installation Notes ~ + Hydraulic Fluid List + Notes on Hydraulic Cylinder Speed Control Circuit with air venting function. (Speed control valve is sold separately.) Sgrsit:gmclﬁmde,
* Notes on Handling * Maintenance/Inspection * Warranty DWA/DWB

561 562



External
Dimensions

Link Clamp Index Model No. Indication | Performance

Air Sensing | Lever Design Accessories Cautions
Digest Cross Section | Specifications Curve

Option Dimensions P.659

model LKA K.SMEK

Double Action Link Clamp

@ Model No. Indication

LKA 048 -
N

0 B EHEHH 4

[l Body Size

036 : ¢D=36mm 065 : ¢ D=65mm BT~

040 : ¢ D=40mm 075 : ¢D=75mm o

048 : ¢ D=48mm 090 : ¢ D=90mm 6D

055: ¢D=55mm 105: #D=105mm

% Outer diameter (¢ D) of the cylinder.
Design No.

0 : Revision Number
Piping Method
C G S

C : Gasket Option (With G Thread Plug)
G : Gasket Option (With R Thread Plug)
S ! Piping Option (Rc Thread Port)

% Speed control valve (BZL) is sold separately. Gasket Option Piping Option
Refer to P.891.

With G Thread Plug | With R Thread Plug Rc Thread Port

Able to attach No Gasket Port

speed control valve

I} Lever Direction

L : Left L
C : Center
R : Right

% The images show the lever direction
when the piping port is placed in front of you.

Action Confirmation Method

Blank : None (Standard) D M N
D : Double End Rod Option for Dog
M . Air Sensing Manifold Option
N[ . Air Sensing Piping Option
(N : Standard Air Sensor Port Phase
NC/NL/NR : Refer to external dimensions for air sensor port phase.) Air sensor port phase is
selectable from 4 directions.
. (Refer to External Dimensions.)
[ Option
Blank :None (Standard) Blank A
A . Quick Change Lever Type A
H . High Strength Link Plate Option (Increase in Allowable Offset)
K : Flange Pin with C Type Circlip

% H option is only available for [fl] body size (036/040/048/055/065/075).

563 % Please let us know if you have a question about a combination of option.

Harmony in Innovation

. . High-Power
© Specifications Series
Model No. LKA0360 LKA0400 LKA0480 LKA0550 Eneumatic Series
Cylinder Area for Locking cm? 452 531 7.07 9.62 -
- Hydraulic Series
No Action Clamping Force 590X P [ 764 XP £ 1176 X P [ 1818x P
Confirmation | (Calculation Formula) x1 N TL145 T T L1185 o Valve / Coupler
Option Blank Hydraulic Unit
Cylinder Capacity | Lock 8.4 109 16.6 25.0
M | Operation
cm? | Release 6.9 8.6 13.0 19.8 Accessories
Cylinder Area for Locking  ¢cm? 4.02 418 5.53 8.08 Cautions/ Others
With Action | ClamPing Force pLS2XP _602xP _920xP p 1527XP
:’fgirmat:::d \ (Calculation Formula) #1 L-14.5 L-16 L-18.5 L21 Hole Clamp
5 ti
BT A ey L 74 86 130 210 SFA
SFC
cm? | Release 6.9 8.6 13.0 19.8
Swing Clamp
Cylinder Inner Diameter *2 mm 24 26 30 35 LHA
Rod Diameter %2 T 10 12 14 16 LHC
LHS
Full Stroke mm 18.5 20.5 235 26 LHW
Lock Strok 16 175 20.5 23 LT/LG
0C roke mm LA
Extra Stroke mm 2.5 3 3 3 TLB-2
Max. Operating Pressure MPa 7.0 L
Min. Operating Pressure*3 MPa 0.5
Withstanding Pressure MPa 10.5 LKC
- LKW
Operating Temperature C 0~70 L
Option Blank 0.5 0.6 1.0 13 TMA-2
TMA-
Mass* kg [ OptionD 05 07 10 13 R
R Work Support
OptionM/N 0.6 0.8 1.3 1.6 AT
LC
TNC
Model No. LKA0650 LKA0750 LKA0900 LKA1050 Tc
Cylinder Area for Locking c¢m? 159 23.8 36.3 50.3 Air Sensing
- Lift Cylinder
No Action Clamping Force c_ 3506% P  6414X P 11766 P ~199.05% P LLw
Confirmation (Calculation Formula) 1 kN L-24.5 L-30 L-36 L-44 Compact Cylinder
[ Option Blank
Bl Option Blank e Capacity | Lock 469 832 1489 246.3 L
cm? | Release 37.7 69.8 123.7 197.8 LLU
Cylinder Area for Locking  c¢m? 144 21.2 338 47.7 EE
With Action Clamping Force _ 3167% P r S727XP 10942% P 18897 P DS
Confirmation (Calculation Formula) x1 T L1245 a -30 T L36 T 144 or
[ Option D/M/N i
B Option DN |~ Capacity | Lock 04 74.2 1385 2338 %
cm? | Release 377 69.8 1237 197.8 DBC
Cylinder Inner Diameter *2 mm 45 55 68 80 Centering Vise
Rod Diameter 2 mm 20 22 28 35.5 FVA
FVD
Full Stroke mm 295 35 41 49 FVC
Lock Stroke mm 26.5 32 38 46 Control Valve
Extra Stroke mm 3 3 3 3 BZL
BZT
Max. Operating Pressure MPa 7.0 BZX/JZG
Min. Operating Pressure*3 MPa 0.5 Pallet Clamp
Withstanding Pressure MPa 10.5 ﬁ
Operating Temperature °C 0~70
Expansion Locating Pin
Option Blank 2.2 33 5.8 8.6 VFL
Mass 4 kg Option D 283 34 59 & \\;:\A
OptionM/N 2.6 39 6.5 99 VFK

Notes: 3 1. F:Clamping Force (kN), P : Supply Hydraulic Pressure (MPa), L : Distance between the piston center and the clamping point (mm).
2. Clamping force cannot be calculated from the cylinder inner diameter and rod diameter.

Please refer to the clamping force curve.

3. Minimum pressure to operate the clamp without load.
4. Mass of single clamp without the link lever.

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder
DWA/DWB

564



Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions

Double Action Link Clamp model LKA Digest | Cross Section | Specifications Curve Dimensions | Option Dimensions | ccessories P.659 KOSMEK

Harmony in Innovation

. High-Power
@© Clamping Force Curve (Action Confirmation Method: - -Blank : Standard Model) Series
Applicable Model cIlie Blank Pneumatic Series
A
L KA g ) E E ) H
L: Lever Length (mm) K Notes :
1. Tables and graphs shown are the relationships between the clamping force (kN) and supply hydraulic pressure (MPa). ‘l_’la:’”?‘t'}"_et’
raulicuni
Body Si Action Confirmation Method 2. Cylinder force (when L=0) cannot be calculated from the calculation formula of clamping force. Y
. f ody Size ction Confirmation Metho L . )
F: Clamping Force (kN) y - Blank selected 3. Using in the non-usable range may damage the clamp and lead to fluid leakage. Manual Operation
P:Suppl Example) When using LKA0480 %1. F: Clamping Force (kN), P : Supply Hydraulic Pressure (MPa), L : Lever Length (mm). fscessonies
pply p 9 y Fy
Hydraulic Pressure (MPa) = Hydraulic Supply Pressure 5.0 MPa, Lever Length L=42 mm o
| | Clamping force is about 2.6 kN.
LKA0360-01- H ConpingFoeGluionfomd T (kN)  F = (5.90 XP) /' (L— 14.5) ‘ LKA0650-00- H ConpngFoe Gluionfomd T (kN)  F = (35.06 XP) /' (L— 24.5) ‘ HoleClamp
SFA
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(®)| Min. Lever 35 ‘ Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(®)| Min. Lever 12 lind SFC
Pressure &N LeverlengthL (mm) Length (L) 3 Cylinder Force Pressure ®N) | LeverlengthL (mm) Length (L) Cylinder Force
(MPa) L=22.5/1=27.5/L=33.5| L=40 | L=50 | L=60 | L=80 |L=100| (mm) (MPa) L=40 | L=50 |L=56.5| L=80 |L=100|L=120 L=140 L=160| (mm) 10 Swing Cl
7 . s 22 17 | 12| 10 07 | 05 | 335 Non-Usble Range (M) 7 77 | 45| 33 | 26 22 | 19 | 565 Non-Ussble Range (H) ~ >WIng ~amp
6.5 { ey 20 [ 16 11 09 06 | 05 31 ~ 25 6.5 72 | 42| 31 | 24| 20 17 52 _ LHA
6 19 14 10| 08| 06 | 05 29 =3 6 96 66 | 38 | 28 | 23| 19 | 16 48 Z s L=56.5(5=21.5) LHC
55 2.5 1.8 13 1.0 0.8 0.5 04 27 o y L=33.5(s=13.5) 55 8.8 7.6 6.1 35 26 2.1 1.7 1.5 45 Y =20.05=21. LHS
5 23 2.3 1.6 1.2 0.9 0.7 0.5 0.4 25 S 2 % 5 8.0 6.9 5.5 32 24 19 1.6 13 42 S / LHW
45 2.1 21 14 11| 08| 06 | 05 | 04 24 5 45 7.2 102 [ 6250 29 21| 17 | 14| 12 39 5 6 e
4 19 30 [ 19 13 10 07 | 06 | 04 | 03 22 £15 , 4 6.4 91 | 55| 44 | 26 | 19 | 15| 13 | 1.1 37 £ / LT/
35 16 26 | 16 | 11| 09 | 06 | 05| 04 | 03| 21 g e 35 56 80 | 49 | 39 | 23 | 17 | 13 | 11| 10 | 35 g Yy TLA-2
3 14 23 1410 07 05[] 04| 03| 03| 20 &, L=50(s=30) 3 4.8 68 | 42 | 33 | 19 | 14 | 12 | 10 | 08 | 35 s 4 = TLB-2
25 1.2 19 12 0.8 0.6 0.5 0.4 03 0.2 20 / , 2.5 4.0 57 35 2.8 1.6 1.2 1.0 0.8 0.7 35 /, ’/ L=100(s=65) TLA
2 1.0 15 10| 07 | 05| 04| 03] 02| 02 20 / // " 2 32 46 | 28 | 22 | 13| 10| 08 | 07 | 06 35 ) yos 1606129 —
15 0.7 12 07 05] 04 03] 02 02] 02 20 0.5 % L=100(s=80) 1.5 24 34 21 1710 07| 06| 05 04 35 z =160(s=
1 0.5 0.8 0.5 0.4 0.3 0.2 0.2 0.1 0.1 20 /124 /// 1 1.6 23 14 1.1 0.7 0.5 0.4 0.4 0.3 35 ////éﬁ///
0.5 0.3 0.4 0.3 0.2 0.2 0.1 0.1 0.1 0.1 20 0 4// 0.5 0.8 1.2 0.7 0.6 04 03 0.2 0.2 0.2 35 0 — .
Max. Operating Pressure (MPa) | 4.4 5.8 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 Max. Operating Pressure (MPa) | 4.8 6.3 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 Il:icwi
LKA0400-00-0 || Grocionfonss 1 (kN) F=(7.64 XP) /(L= 16) | Supply Hydraulic Pressure (MPa) LKAO750-00-0 || Giyiyfretiinions 1 (kN) F = (64.14 XP) / (L= 30) | Supply Hydraulic Pressure (MPa) LW/
Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range(®)| Min. Lever 4 ‘ ‘ linder F Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range()| Min. Lever 18 ‘ X (VA2
Pressure (kN) Lever Length L (mm) Length (L) 15 | Cylinder Force Pressure (kN) Lever Length L (mm) Length (L) 16 L=50(s27.5) Cylinder Force TMA-1
(MPa) L=25 [ =30 [L=365] L=40 | L=50 | L=60 | L=80 [L=100| (mm) - L=25(s=25) Non-Ussble Rance (1 (MPa) L=50 [ L=60 [L=67.5] L=80 | L=100L=120|L=140]L=160| (mm) =0/
7 ) B 27 | 23 | 16 | 13 | 09 | 07 | 365 ; / on-Usable Renge (M) 7 [ 120 | 90 | 65 | 50 | 41 | 35 | 675 14 > Non-Uszble Renge (1) Work Support
65 : I 25 | 21 [ 15 12 | 08 [ 06 | 34 = 6.5 [ 112 | 84 | 60 | 47 | 38 | 33| 63 = /| LD
6 ) e 23 [ 20 14 11 08 ] 06| 32 Z 2 L=365(s=14) 6 143 103 | 77 [ 55| 43 [ 35| 30| 58 g1 [ L=67.5(s=25) LC
55 30 22 118 13 [ 10 ] 07 | 06 29 g 25 55 13.1 118 | 95 | 71 | 51 | 40 | 33 | 28 54 g / A e
5 2.7 28 | 20| 16 | 12 09 | 06 | 05 27 5 / 5 1.9 161 [ 107 | 86 | 65 | 46 | 36 | 30 | 25 51 5 10 / 2 /
45 24 39 | 25| 18 15 11| 08| 06| 05| 26 T2 v / 45 107 145 | 97 | 77 | 58 | 42 | 33 | 27 | 23| 48 = / // LS
4 22 34 22 1.6 13 0.9 0.7 0.5 0.4 24 g / /’ 4 9.6 129 8.6 6.9 5.2 37 29 24 20 45 g_ 8 o / Air Sensing
35 19 30 [ 20 [ 14 12 08 07 [ 05[] 04 23 g 15 [ | F30s=279) 35 84 113 751 60 | 45 [ 33 [ 25| 21 | 18| 43 g // S L=100(52575) Lift Cylinder
3 16 26 | 171 12 10 07 | 06 | 04 | 03 23 & y 7 3 7.2 97 | 65| 52 [ 39 28| 22| 18| 15 43 & 6 7 ’ LW
25 14 22 14 1.0 0.8 0.6 0.5 0.3 0.3 23 1 / ’// 2.5 6.0 8.1 54 43 33 23 1.8 1.5 13 43 4 / g —
2 1.1 17| 11| 08| 07 | 05 04 | 03 | 02 23 T 2 48 65 | 43 | 35 | 26 | 19 | 15 | 12 | 10 43 /7 L=160(s=117.5) Compact Cylinder
15 08 13 09| 06 | 05| 04| 03] 02| 02 23 05 ,/ é — 1 L=100(s=77.5) 15 36 29 331 26 1 20 14 11 09 os 23 , / / _— ] o
1 0.6 09 | 06| 04| 04 03| 02| 02| 01 23 / _— 1 24 3322 18 13 10| 08 | 06 | 05 43 [ g
05 03 05 03| 02 02 02| 01 01 01| 23 0 Z— — 05 12 17 | 11| 09 07| 05| 04 03 | 03| 43 0 e — LLR
Max. Operating Pressure (MPa)| 4.5 | 58 | 7.0 | 70 | 70 | 70 | 70 | 70 o 1 2 3 4 5 6 7 Max. Operating Pressure (MPa)| 50 | 63 | 7.0 | 70 | 70 | 70 | 70 | 7.0 0 1 2 3 4 5 6 7 E)LPU
) ) S ly Hydraulic Pi MP; ) ) i _
LKA0480-00-0) || Gopssetiantnss ' (kN) F= (1176 XP) / (L—185) upply ydralc Pressure (MFe) LKA0900-00-0 | CopgfcCirions | (N) F = (117.66 XP) / (L—36) | Supply Hydraulic Pressure (MP) ok
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(M)| Min. Lever Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(™)| Min. Lever Cylinder Force DS
Pressure (kN) Lever Length L (mm) Length (L) 5 ‘ Cylinder Force Pressure (kN) Lever Length L (mm) Length (L) 24 Non-Usable Range (1) DT
(MPa) L=35 | L=42 | L=50 | L=60 | L=80 | L=100|L=120| (mm) L=30(s=4.5) Non-Usable & n (MPa) L=70 |[L=77.5|L=100|L=120|L=140 L=160|L=200 (mm) 9 .
7 . I 36 | 27 | 20 14 10 09| 42 SR on-Usable Range ( 7 [ 199 (129 | 99 | 80 | 67 | 51 | 775 2 L=775(=275) Block Cylinder
6.5 y e 33 25 19 13 [ 10 | 08 39 > 4 o 6.5 185 (120 | 92 | 74 | 62 | 47 72 = - ’ DBA
6 . [ 30 | 23 [ 18 121 09| 07 | 36 < / L=42(5=16.5) 6 218 [WEE 208 [171 (110 | 85 | 68 | 57 | 44 | 67 < DBC
5.5 39 A 2.8 2.1 1.6 1.1 0.8 0.7 34 ] e 5.5 20.0 156 | 10.2 7.8 6.3 53 4.0 63 Y 16
5 36 36 | 26 | 19 | 15| 10 | 08 | 06 32 s 3 A 5 18.2 246 174 (142 | 92 | 7.1 | 57 | 48 | 36 59 5 o
45 32 47 |33 23 17 | 13| 09| 07 | 06 | 30 = Y p 45 164|221 156 | 128 | 83 | 64 | 51 | 43 | 33 | 56 R Centering Vise
4 2.9 41 [ 29 21 15[ 12 ] 08| 06 | 05 28 £ yd 4 14.6 197 [139 [114 | 74 | 57 | 46 | 38 | 29 53 £ FVA
35 2.5 3.6 2.5 1.8 1.4 1.0 0.7 0.6 0.5 26 g 2 . ’ 1=60(s=34.5) 35 12.8 17.2 1122 | 10.0 6.5 5.0 4.0 34 26 50 £ L=120(s=70) FVD
3 22 3.1 22 1.6 1.2 0.9 0.6 0.5 0.4 26 ‘—J e / 3 10.9 148 | 104 8.6 5.6 43 34 29 22 50 8 8 FVC
25 1.8 26 | 18 13| 10 | 08 | 05 | 04 | 03 26 ¢ // 25 9.1 123 | 87 [ 71 | 46 | 36 | 29 | 24 | 18 50
2 15 21 [ 15 11 08 06 | 04 | 03 | 03 26 1 2 73 99 | 70 | 57 | 37 | 29| 23| 19 | 15 50 1=200(s=150) Control Valve
1.5 1.1 1.6 1.1 0.8 0.6 0.5 0.3 0.3 0.2 26 L L=120(s=94.5) 1.5 5.5 74 52 43 2.8 22 1.7 1.5 1.1 50 4 BZL
1 0.8 1.1 0.8 0.6 0.4 0.3 0.2 0.2 0.2 26 4 —] 1 37 5.0 35 29 1.9 15 12 1.0 0.8 50 87T
05 0.4 06 | 04| 03] 02 02| 01 [ 01| 01 26 0 05 19 25 18| 15 10 | 08 | 06 | 05 | 04 50 0 L CLE—
Max. Operating Pressure (MPa)| 4.8 | 59 | 70 | 70 | 70 | 70 | 70 | 7.0 0 ] 2 3 4 5 6 7 Max. Operating Pressure (MPa)| 5.2 | 64 | 70 | 70 | 70 | 70 | 70 | 70 0 1 2 3 4 5 6 7 BZX/)ZG
LKAO550-00-0 || ooetiokinions ) (kN) F = (1818 XP) / (L—21) | Supply Hydraulic Pressure (MPa) LKA1050-00-0 | Gpigfuetiinionss ™ (kN)  F = (199.05 XP) / (L— 44) | Supply Hydraulic Pressure (MPa) PalletClamp
Vs
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(®)| Min. Lever / Cylinder Force Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range()| Min. Lever 36 Cylinder F VT
Pressure (kN) Lever Length L (mm) Length (L) 6 Pressure (kN) Lever Length L (mm) Length (L) ylinder rorce B —
(MPa) =35 | L=40 | L=50 | L=60 | L=70 | L=80 |L=100]L=120] (mm) (MPa) L=70 | L=80 | L=95 |L=110]L=130|L=150L=170|L=230| (mm) 32 Non-Usable Range () ¢, - vsion Locating Pin
7 . e 44 | 33 | 26 | 22 17 | 13| 50 Non-Usable Range (M) 7 i 274 212 163 (132 110 | 75 | 95 %
6.5 : I 41 [ 31 [ 25 21 [ 15| 12 46 ~ 5 6.5 [ 254 (197 1151 1123 (103 | 7.0 89 — 28 1=95(s=35)
6 . e 38 | 28 | 23 19| 14 | 12 43 =3 p 6 [ 235 (181 139 (113 | 95 | 65 83 Z J VFM
55 53 — | 35 | 26 | 21| 17 | 13| 11 39 p L=50(s=20) 55 27.7 [ 305 | 215 | 166 | 128 | 104 | 87 | 59 77 g 24 VFJ
5 49 48 | 32 | 24 | 19 16 | 12 | 10 37 5 4 ; 5 25.2 196 | 151 [ 116 | 94 | 79 | 54 73 5 20 / ~ VEK
4.5 44 59 | 44| 29 | 21 [ 17| 14| 11| 09 34 = 45 227 345 (249 | 176 | 136 | 105 | 85 | 7.2 | 49 68 o / / —
4 3.9 52 39| 26 19 15| 13| 10 | 08 32 £ 3 S 4 20.2 307 [222 [157 (121 | 93 | 76 | 64 | 43 65 £ 16 1=130(s=70)
[o% [o% / Pull Stud Clamp
35 34 46 | 34 | 22 | 17 | 13 11 ] 09 | 07 30 IS pd 35 17.6 268 | 194 [ 137 | 106 | 82 | 66 | 56 | 38 61 I / e e Eeme
3 29 39 29 1.9 14 1.2 1.0 0.7 0.6 30 8 2 L=70(s=40) 3 15.1 230 166 | 118 9.1 7.0 57 4.8 33 60 8 12 — FP
25 2.5 33 24 1.6 1.2 1.0 0.8 0.6 0.5 30 / L 2.5 12.6 19.2 | 139 9.8 7.6 5.8 4.7 4.0 2.7 60 /, 7 / FQ
2 2.0 26 | 20| 13 10 | 08 | 07 | 05 | 04 30 y, '/ / |~ 1 1=120(s=90) 2 10.1 154 (110 [ 79 | 61 | 47 | 38 | 32 | 22 60 8 7 —— L=230(s=170) Customized
15 15 20 | 15 10 07 | 06 | 05 | 04 | 03 30 1 Vo — 15 76 115 | 83 [ 59 | 46 | 35| 29 | 24 | 17 60 4 . 7 — Spring Cylinder
1 1.0 13 1.0 0.7 0.5 0.4 0.4 0.3 0.2 30 ?/// 1 5.1 7.7 56 4.0 3.1 24 1.9 1.6 1.1 60 P _— T DWA/DWE
0.5 0.5 0.7 0.5 0.4 0.3 0.2 0.2 0.2 0.1 30 0 = 0.5 2.6 39 238 2.0 1.6 1.2 1.0 0.8 0.6 60 0 = —_
Max. Operating Pressure (MPa) | 4.8 57 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 Max. Operating Pressure (MPa) | 4.8 59 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7

565 Supply Hydraulic Pressure (MPa) Supply Hydraulic Pressure (MPa) 566



Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions

Double Action Link Clamp model LKA-D/M/N Digest Cross Section | Specifications Curve Dimensions Option Dimensions | ccessories P.659 K.SMEK

Harmony in Innovation

. High-Power
© CIamplng Force Curve (Action Confirmation Method: - D : Double End Rod Option for Dog /M : Air Sensing Manifold Option /N : Air Sensing Piping Option) Series
Applicable Model Pneumatic Series
pplicable Mode cliLId BIan
L: Lever Length (mm) K Notes :
1. Tables and graphs shown are the relationships between the clamping force (kN) and supply hydraulic pressure (MPa). \l-lla:’ellc'otplir
raulicUni
Body si Action Confirmation Method 2. Cylinder force (when L=0) cannot be calculated from the calculation formula of clamping force. Y
F : Clamping Force (kN) ody size 'CDI;)Mn/NO:e;;::ZJon etho 3. Using in the non-usable range may damage the clamp and lead to fluid leakage. Manual Operation
. : . . " . . . Accessories
P: Supply (Example) When using LKA0480-0J0D/M/N % 1. F : Clamping Force (kN), P : Supply Hydraulic Pressure (MPa), L : Lever Length (mm).
Hydraulic Pressure (MPa) =) Supply Hydraulic Pressure 5.0 MPa, Lever Length L=42 mm Cautions / Others

| | Clamping force is about 2.0 kN.

LKA0360-DDD/M/N-DH ConpigFoeGluionfomd™ T (kN) — F = (5.24 XP) /' (L— 14.5) ‘ LKA0650-DDD/M/N-DH ConpingFoeGluionfomd™ T (kN) ~ F = (31,67 XP) /' (L— 24.5) ‘ HoleClamp
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(F)| Min. Lever 33 ‘ Non-Usable Range (M) Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(i)| Min. Lever 12 Non-Usable Range () ;E?
Pressure kN) ] LeverlengthL(mm) Length (L) Pressure &N) LeverlengthL(mm) Length (L)
(MPa) L=225(L=27.5[L=335| L=40 | L=50 | L=60 | L=80 [L=100| (mm) 3 L=22.5(s=2.5) . (MPa) L=40 | L=50 [L=565| L=80 |L=100/L=120[L=140[L=160  (mm) 10 L=40(s=5) Cylinder Force Swing Clamp
7 2.0 15 1.1 0.9 0.6 0.5 29 Cylinder Force 7 10.1 8.7 7.0 4.0 3.0 24 20 1.7 50 —
65 27 27 [ 18 14 | 10| 08 | 06 | 04 | 28 ~ 25 6.5 94 81 | 65| 38 | 28 | 22 | 18| 16 | 47 = LHA
6 25 25 1.7 13 0.9 0.7 0.5 04 26 é 6 8.7 7.5 6.0 35 26 2.0 1.7 15 44 é 8 — LHC
55 23 23 1.6 1.2 0.9 0.7 0.5 0.4 25 Y 55 8.0 6.9 55 32 24 19 1.6 13 42 Y e L=56.5(s=21 5 LHS
5 2.1 21| 14 11| 08| 06 | 04 | 04 23 52 = L=33.5(s=13.5) 5 72 63 | 50 | 29 | 21 | 1.7 | 14| 12 39 5 A (s=21.5) Taw
45 1.9 30 19 13 10 07 06| 04| 03] 22 5 / e 45 65 56 | 45 [ 26 | 19 [ 15 | 13 [ 1. 37 o6 - e
4 1.7 2.7 1.7 1.2 0.9 0.6 0.5 04 0.3 21 g_ 15 o // 4 5.8 5.0 4.0 2.3 1.7 14 1.1 1.0 35 g_ pad
35 1.5 23 1.5 1.0 0.8 0.6 0.5 0.3 0.3 20 £ / 7 / 35 5.1 4.4 35 2.0 1.5 1.2 1.0 0.9 35 IS L TLA-2
3 13 20 1 1309 07 [ 05] 04| 03] 02 20 &, /A L=50(5=30) 3 44 38 30 [ 18 13 1009 08| 35 s 4 TLB-2
25 1.1 17 | 11 07| 06| 04| 03| 02| 02| 20 / - 7 - 25 36 32 25| 15 11| 09| 07 | 06| 35 % | L=100(s=65) TLA-1
2 0.9 14 0.9 0.6 0.5 0.3 0.3 0.2 0.2 20 / 7 / | 2 29 25 2.0 1.2 0.9 0.7 0.6 0.5 35 2 e —
15 0.7 10| 07 | 05| 04 03] 02| 02| 0. 20 0.5 pea 100(e 15 22 19 | 15 09| 07 | 05| 05 04 | 35 7 1 1=160(s=125)
1 0.5 07 [ 05/ 03 03 02 02 01 01| 20 //é/_'___.——'-‘"" L=100(5=80 1 15 13 10 | 06 | 05| 04 | 03] 03| 35 //ﬁﬁ//
0.5 0.3 0.4 03 0.2 0.2 0.1 0.1 0.1 0.1 20 0 e 0.5 0.8 0.7 0.5 0.3 0.3 0.2 0.2 0.2 35 0 b==——= ke
Max. Operating Pressure (MPa) | 4.9 6.6 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 Max. Operating Pressure (MPa) 7.0 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 AT
LKA0400-C0D/M/N-0] | Grivetiokinfons™ (N)  F= (6,02 XP) / (L—16) | Supply Fydraulic Pressure (MPe) LKAO750-J0D/M/N-0] | Grigfsctitiotons™ () F = (57.27 XP) /(L= 30) | Supply Hydraulic Pressure (MPa) LWL
Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range(®)| Min. Lever 4 [ I Non-Usable Range () Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range()| Min. Lever 18 Non-Usable Range () TMA-2
Pressure (kN) Lever Length L (mm) Length (L) L=25(s=2.5) Pressure (kN) Lever Length L (mm) Length (L) 16 TMA-1
(MPa) L=25 [ 1=30 [L=365] L=40 | L=50 [ L=60 | L=80 [L=100| (mm) 35 / (MPa) L=50 | L=60 [L=67.5| L=80 | L=100[L=120[L=140[L=160| (mm) Cylinder Force
7 3.0 31 22 18] 13] 10 07 | 06 29 / 7 14.9 134 [107 | 81 | 58 | 45 | 37 [ 31 60 14 Work Support
6.5 28 2.8 2.0 1.7 1.2 0.9 0.7 0.5 27 . 3 / A Cylinder Force 6.5 13.8 125 1100 7.5 54 | 42 34 29 56 — LD
6 26 26 | 19| 16 | 11| 09| 06 | 05 26 z / 6 12.8 115 | 92 | 69 | 50 | 39 | 32 | 27 53 2 n Lc
55 23 37 | 24 17 1410 08 06 | 04 | 25 T 25 = 55 1.7 158 (105 | 84 | 63 | 45| 35| 29 | 25| 50 g / L=67.5(s=25) e
5 2.1 34 22 1.6 13 0.9 0.7 0.5 04 24 g ,/’ 5 10.7 14.4 9.6 7.7 5.8 4.1 32 2.7 23 47 s 10
45 19 31 20| 14 12 | 08| 07 | 05 | 04 | 23 <2 = - 1=36.5(s=14) 45 96 129 | 86 | 69 | 52 | 37 | 29 | 24 | 20 | 45 =z / IS
4 1.7 2.7 1.8 13 1.1 0.8 0.6 0.4 03 23 k= P / 4 8.5 11.5 7.7 6.2 4.6 33 26 2.1 1.8 43 g_ 8 % Air Sensing
35 1.5 24 1.6 1.1 0.9 0.7 0.5 04 0.3 23 g 15 / = < 35 7.5 10.1 6.7 54 4.1 29 23 1.9 1.6 43 £ 6 i 10062575 Lift Cylinder
3 13 2.1 13 1.0 0.8 0.6 0.5 0.3 0.3 23 © pad L=50(s=27.5 3 6.4 8.6 58 4.6 35 2.5 2.0 1.6 14 43 = = S=>/. LLW
25 1.1 17 11 08 07| 05| 04| 03] 02/ 23 Yoy // - e e 25 54 72 | 48 | 39 | 29 | 21 | 16 | 14 | 12| 43 ~ . / ~
2 0.9 14 0.9 0.7 0.6 04 0.3 0.2 0.2 23 wd " 2 43 58 39 3.1 23 1.7 13 1.1 0.9 43 2 _ _ Compact Cylinder
15 07 11 07| 05| 04 03] 03 02 02| 23 os | A _— L=100(s=77.5) 15 32 43 20 23 | 18 | 13 | 10 | 08 | 07 | 43 5 /// —T TS ——
1 0.5 0.7 0.5 04 0.3 0.2 0.2 0.1 0.1 23 9& /’—/ 1 22 29 2.0 1.6 1.2 0.9 0.7 0.6 0.5 43 /,/f//// LLR
0.5 0.3 0.4 03 0.2 0.2 0.1 0.1 0.1 0.1 23 0 _4// 0.5 1.1 1.5 1.0 0.8 0.6 0.5 04 | 03 0.3 43 0 =
Max. Operating Pressure (MPa) | 58 | 7.0 | 70 | 70 | 70 | 70 | 70 | 70 o 1 2 3 4 5 6 7 Max. Operating Pressure (MPa) | 5.7 | 7.0 | 70 | 70 | 70 | 70 | 70 | 70 0 1 2 3 4 5 6 7 ELPU
LKA0480-00D/M/N-0 | GrfocCitiniinss™ | (kN)  F = (9.20 XP) / (L—185) | Supply Fyraulic Pressure (MP) LKA0900-00D/M/N-| | Grgtgfetiainioms™ | (kN) F = (109.42 XP) / (L—36) | Supply Hydraulic Pressure (MPa) DR
Hydraulic | Cylinder Force Clamping Force (kN)  Non-Usable Range(™)| Min. Lever ‘ Non-Usable Range () Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(®)| Min. Lever ‘ Non-Usable Range () bs
Pressure (kN) Lever Length L (mm) Length (L) 5 Pressure (kN) Lever Length L (mm) Length (L) 24 T / Cylinder Force DT
(MPa) L=30 | L=35 | L=42 | L=50 | L=60 | L=80 |L=100[L=120| (mm) (L) (MPa) L=70 [L=775|L=100] L=120 [ L=140 [ L=160[L=200| (mm) L=60(s=10) ‘
7 39 40 | 28 | 21 [ 16| 11 08 07| 33 7 [N 185 (120 | 92 | 74 | 62 | 47 | 72 20 7 ¢ Block Cylinder
6.5 3.6 3.7 2.6 1.9 1.5 1.0 0.8 0.6 31 4 . 6.5 220 172 | 11.2 8.5 6.9 5.8 44 67 — # _ _ DBA
6 34 48 | 34 | 24 | 18| 14| 09 | 07 | 06 | 30 2 | Olinder Force 6 203 194 159 (103 | 79 | 64 | 53 | 41 | 63 9 / L=773(s=27.5) Y T
55 3.1 44 3.1 2.2 1.7 13 0.9 0.7 0.5 29 p p e 55 18.6 251 | 17.8 | 146 9.5 7.2 5.8 49 37 60 Y 16 z E—
5 2.8 4.0 2.8 20 15 1.2 0.8 0.6 0.5 27 g 3 / L 5 16.9 228 | 16.1 | 13.2 8.6 6.6 53 4.5 34 57 S Centering Vise
45 2.5 3.6 2.6 1.8 14 1.0 0.7 0.6 0.5 26 "‘U-\ / - ” =42(s=16.5) 4.5 15.2 206 | 145 | 119 7.7 59 4.8 4.0 3.1 54 "'o" 12
4 23 32 123 16| 12 [ 09] 06| 05| 04 26 £ 7 / 4 13.6 183 [ 129 (106 | 69 | 53 | 43 | 36 | 27 51 £ FVA
35 2.0 2.8 20 14 1.1 0.8 0.6 0.4 04 26 g' 2 / e / 35 11.9 16.0 | 11.3 9.3 6.0 4.6 37 3.1 24 50 g‘ 1=120(s=70) FVD
3 7 24 [ 17 [ 1209 07 | 05| 04| 03 26 k] V% 3 102 137 | 97 | 80 | 52 | 40 | 32 | 27 | 21 50 & g FVC
25 14 2.0 14 1.0 0.8 0.6 04 0.3 0.3 26 Y / ,/’ / _— L=60(s=34.5) 25 8.5 11.4 8.1 6.6 43 33 2.7 23 1.7 50
2 1.2 16 | 12 | 08 | 06 05| 03| 03| 02 26 ] /. / — 2 6.8 92 | 65 | 53| 35| 27 | 22| 18| 14 50 . ) 1=200(s=150) Control Valve
15 0.9 12 0.9 0.6 0.5 04 0.3 0.2 0.2 26 o L _ _ 1.5 5.1 6.9 4.9 4.0 26 2.0 1.6 14 1.1 50 / Rz
1 06 | 08| 06 04| 03 03| 02 02 01| 2 ;// | =1200s=943) 1 34 | 46 33 27 | 18 14 11 09 07| 50 7 —
0.5 0.3 04 0.3 0.2 0.2 0.2 0.1 0.1 0.1 26 0 _‘__/——-——""'_ 0.5 1.7 23 1.7 14 0.9 0.7 0.6 0.5 04 50 0 = Bzt
Max. Operating Pressure (MPa) | 62 | 70 | 70 | 70 | 70 | 70 | 70 | 7.0 0 1 P 3 4 5 6 7 Max. Operating Pressure (MPa) | 56 | 6.9 | 70 | 70 | 70 | 70 | 70 | 7.0 0 1 2 3 4 5 6 7 BZX/1ZG
LKAO550-J0D/MN-0 | Grsgioctitiofoms™ () F=(15.27 xP) /(L= 21) | Supply Hydraulic Pressure (MPa) LKA1050-00D/WN-0 | GrgcGiuiinfon™ | (kN)  F = (188.97 XP) / (L— 44) | Supply Hydraulic Pressure (MPa) palecclome
Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range(®)| Min. Lever 7 Non-Usable Range () Hydraulic | Cylinder Force Clamping Force (kN) Non-Usable Range()| Min. Lever 36 Non-Usable Range () VT
Pressure (kN) Lever Length L (mm) Length (L) Pressure (kN) Lever Length L (mm) Length (L) Cylinder Force
(MPa) L=35 | 1=40 | =50 | L=60 | L=70 | L=80 [L=100L=120] (mm) 6 ' (MPa) L=70 | =80 | L=95 [L=110]L=130]L=150L=170 L=230| (mm) 32 Y Bxpansion Locating Pin
7 . e 37 [ 28 [ 22 [ 19 [ 14 [ 11| 4 Cylinder Force 7 260 200 | 154 | 125 105 | 72 | 90 —_—
65 53 35 26 | 21 | 17| 13 | 11| 39 _ s / 6.5 241 187 | 143 116 | 98 | 67 | 84 _ 28 VFL
6 49 49 | 32 | 24 [ 19 16| 12| 10 37 Z / 6 28.7 223 [172 1132 [107 | 90 | 6.1 79 Z L=95(s=35) VEM
5.5 4.5 6.0 4.5 29 22 1.8 1.5 1.1 0.9 35 s 55 26.3 289 204 | 158 | 121 9.9 8.3 56 74 ] 24 VFJ
5 4.1 55 4.1 2.7 2.0 1.6 1.3 1.0 0.8 33 g 4 % L=50(s=20) 5 239 364 263 | 186 | 144 | 11.0 9.0 7.5 5.1 70 S 20 / VEK
4.5 37 5.0 37 24 1.8 1.5 1.2 0.9 0.7 31 ‘-‘0-1 7 45 215 328 237 [ 167 | 129 9.9 8.1 6.8 4.6 66 "'6, /
4 33 4.4 33 22 1.6 13 1.1 0.8 0.7 30 £ 4 19.1 29.1 [ 21.0 | 149 | 115 8.8 72 6.0 4.1 63 £ 16 _ _
35 29 39 29 19| 14 11| 10| 07 | 06 | 30 g 3 ~ 35 168 255 | 184 (130 | 100 | 7.7 | 63 | 53 | 36 | 60 g /. L=1306=70) PullStud Clamp___
3 2.5 33 2.5 1.6 1.2 1.0 0.8 0.6 0.5 30 © / / L=70(s=40) 3 144 219 158 | 11.2 8.6 6.6 54 | 45 3.1 60 8 12 A FP
25 2.1 28 | 21 | 14| 10| 08| 07 | 05| 04 | 30 v o2 s — 25 120 182 [132 | 93 | 72 | 55 | 45 | 38 | 26 | 60 / N d 7 FQ
2 17 22 17 | 11 08| 07| 06| 04 | 04| 30 / _— L=120(s=90) 2 9.6 146 | 105 | 75 | 58 | 44 | 36 | 3.0 | 2. 60 8 g ] 1=23065=170) Customized
15 13 1.7 1 13 08 06 | 05| 04 | 03| 03 30 1 / — 1.5 72 110 | 79 | 56 | 43 | 33 [ 27 | 23| 16 | 60 . / 7 — Spring Cylinder
1 0.9 1.1 0.9 0.6 0.4 04 0.3 0.2 0.2 30 ,/;é/// 1 4.8 73 53 38 29 22 1.8 1.5 1.1 60 ‘s — T owAWE
05 05 06 | 05| 03 02 02 02 01 01 30 0 LE=— 05 24 37 1 27 | 19 [ 15 1.1 [ 09 | 08 | 06 | 60 o L= (OWADWE
Max. Operating Pressure (MPa) | 5.8 6.9 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7 Max. Operating Pressure (MPa) | 5.1 6.2 7.0 7.0 7.0 7.0 7.0 7.0 0 1 2 3 4 5 6 7

567 Supply Hydraulic Pressure (MPa) Supply Hydraulic Pressure (MPa) 568



569

Double Action Link Clamp

© Allowable Offset Graph (Option - - - Blank: Standard)

P : Hydraulic Pressure (MPa) =)

°12
_quw,
o j Lt;} H: Allowable Offset (mm)

Clamping Point

L: Lever Length (mm)

(Example) When using LKA0480
Supply Hydraulic Pressure 5.0 MPa, Lever Length L=80 mm
Allowable Offset is about 10 mm.

‘ LKA0360-0011/LKA0360-00C-A/LKA0360-L00-K

Hydraulic Allowable Offset H (mm) Non-Usable Range ()
Pressure | | LeverlengthL(mm)
(MPa) |L=22.5|1=27.5|L=33.5| L=40 | L=50 | =60 | L=80 |L=100
3 4 5 7 9
3 4 6 8 11
3 4 5 7 10 12
2 3 4 6 8 11 15
3 4 5 7 9 13 17
\ 3 4 6 8 11 15 20
4 2 4 5 7 10 13 18 24
35 3 4 6 9 12 15 22 29
3 3 5 8 11 15 19 27 36
25 4 7 10 13 19 24 34 45
2 5 9 13 17 24 31 45 59
1.5 8 12 18 24 34 43 63 82
1 12 19 28 38 53 68 98 128

LKA0400-00]/ LKA0400-0J0C-A/LKA0400-CJ00-K

Hydraulic

Allowable Offset H (mm) Non-Usable Range (¥)

Pressure

(MPa)

‘ LKA0480-001J/LKA0480-0JUC-A/LKA0480-[J00-K

Hydraulic

Allowable Offset H (mm) Non-Usable Range (M)

Pressure
(MPa)

LKA0550-000/LKA0550-00C-A/LKA0550-1J00-K

Hydraulic Allowable Offset H (mm) Non-Usable Range ()
Pressure LeverLengthL (mm)
(MPa) =100 =120
9 12
11 14
13 16
15 19
17 22
21 26
25 31
30 37
36 | 46
46 57
60 75
84 105
131 164

model LKA

Applicable Model Blank
PP Cl|L D Blank
LKA o-glcll v |-] A
S|IR N K
Body Size Option Blank (Or A/K)
1MPa 2MPa
50
Supply
/ // Hydraulic Pressure
= 40
E / 3MPa
% 30 / //
5 / / / 4MP
a
% 20 / 7 /SMP
g ///// e
ET) / yard 6mga
/// 7MPa
é//
0
0 20 40 60 80 100
Lever Length L (mm)
Supply
Hydraulic Pressure
60 1)VlPa }APa
. 50 /
2 /
%’ 40 / / 3MPa
¢ /
5 30
% / / 4MPa
ERR / 5MPa
o / /
< / e 6MPa|
10 //' o 7MP,
0
0 20 40 60 80 100 120
Lever Length L (mm)
Supply
TMPa Hydraulic Pressure
60
/2MPa‘
50
E N A
= 40
I /
= 3MPa
I
£ 30 / / /
o / //
g 4MPa
_§ 20 / /////
3 5MPa
S ,// — 6P
/7 ———7MPa
zZz—u
0
0 20 40 60 8 100 120 140
Lever Length L (mm)
1MPa Supply
80 / Hydraulic Pressure
2MPa|
70 /
€
£ 60 /
T 50
5 /
; [
S 40 e
@ /]
2 30 / /4MPa
S s
2 2 S 5MPal
10 il
0
0 20 40 60 80 100 120 140

Lever Length L (mm)

Link Clamp
Digest

Notes :

Performance
Curve

Index Model No. Indication
Cross Section | Specifications

External

Dimensions Option

Air Sensing

Lever Design
Dimensions

Cautions

Accessories P 659

KOSMEK

1. Tables and graphs shown are the relationships between the lever length (mm) for supply hydraulic pressure (MPa) and the allowable offset (mm).
2. Using the lever beyond allowable offset may cause deformation, galling and fluid leakage etc.
3. The tables and graphs are only for reference. The design should be carried out with allowance fully taken into consideration.

‘ LKA0650-0010]/ LKA0650-001C-A/LKA0650-1J00-K

Hydraulic
Pressure

(MPa)

Allowable Offset H (mm) Non-Usable Range ()

LKA0750-000/LKA0750-00C-A/LKA0750-00-K

Hydraulic
Pressure
(MPa)

Allowable Offset H (mm) Non-Usable Range ()

5 n 15 18 21

4 6 13 17 21 25

4.5 5 7 9 11 16 20 25 30
4 5 8 10 14 19 24 30 35
35 7 10 12 16 23 29 36 42
3 8 12 15 20 28 36 44 52
2.5 10 15 19 25 35 45 56 66
2 13 20 25 33 46 60 73 86
15 18 28 35 46 65 83 101 | 120

‘ LKA0900-00]/ LKA0900-00C-A/LKA0900-0J00-K

Hydraulic
Pressure
(MPa)

Allowable Offset H (mm) Non-Usable Range (M)

28 37 45 54 71
30 39 49 58 77
33 43 53 63 83
35 47 58 69 91

39 51 63 76 | 100

43 57 70 84 | 1

49 64 79 94 | 125

56 73 91 108 | 143

65 85 | 106 | 126 | 167

78 | 102 | 127 | 151 | 200

98 | 128 | 158 | 189 | 250

130 | 171 | 211 | 252 | 333

195 | 256 | 317 | 378 | 500

LKA1050-000/LKA1050-000-A/LKA1050-000-K

Hydraulic
Pressure
(MPa)

Allowable Offset H (mm) Non-Usable Range ()

Allowable Offset H (mm) Allowable Offset H (mm)

Allowable Offset H (mm)

Allowable Offset H (mm)

Hole CI
1MPa Supply ole Clamp
7 Hydraulic Pressure SFA
90 / 2MPa e SFC
80 / .
/ Swing Clamp
70 / LHA
60 / LHC
o [ e Lis
0 / / b P LHW
V4 P 4MPa LT/LG
30 A ~ | TLA-2
5MPa
20 ~ MPa TLB-2
0 // — T — TLA-1
o 7MPa I
g e— .
0 ]
0 25 50 75 100 125 150 175 LKA
Lever Length L (mm) LKC
LKW
1MPa LM/LJ
TMA-2
100 Supply TMA-1
Hydraulic Pressure
ypa Work Support
80 / / B
LC
60 / / TNC
/ / a/lPa
TC
v /S e fnars
/ / // 5MPa LLW
2 S — o
%/25’ 7MiPa Compact Cylinder
0 LL
0 25 50 75 100 125 150 175 LLR
Lever Length L (mm) LLU
DP
1MPa  2MPa  3MPa DR
160 / / / Supply DS
Hydraulic Pressure DT
140 /
120 / y , AMPa Block Cylinder
/ DBA
100 7 // 5MPa DBC
80 l/ // //// gEvl Centering Vi
7MPa entering Vise
60 /;///'/ FVA
0 /// /4 FVD
7 FVC
|4 :
ontrol Valve
0 BZL
0 25 50 75 100 125 150 175 200 225 BZT
Lever Length L (mm) _BZX/J2G
Supply Pallet Clamp
160 TMPa  2MPa  3MPa Hydraulic Pressure Vs
] &
o [/ 4MPa VT
/ / Expansion Locating Pin
120 / 5MPa
/ ; VFL
100 / / // - 6MPa VEM
/ / Py VFJ
30 / //////,r 7MPa Uik
0 [/
/ //’ Pull Stud Clamp
40 / ’VA,/ FP
20 5% 7 Fa
Customized
0 Spring Cylinder
0 25 50 75 100 125150 175 200 225 250 DWA/DWB

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve / Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Lever Length L (mm)

570



Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions

Double Action Link Clamp model LKA-H Digest | Cross Section | Specifications Curve Dimensions | Option Dimensions | ccessories P.659 KOSMEK

Harmony in Innovation

. High-Power
© Allowable Offset Graph (Option- - -H : High Strength Link Plate) Series
Applicable Model Blank Pneumatic Series

n oo
00O

P : Hydraulic Pressure (MPa) mm)
’ o [ 9

1. Tables and graphs shown are the relationships between the lever length (mm) for supply hydraulic pressure (MPa) and the allowable offset (mm). ‘l_’la:’”?‘t'}"_et’
ydraulic Uni

© D

e o ) i B
l H: Allowable Offset (mm) N Notes :
L=

2. Using the lever beyond allowable offset may cause deformation, galling and fluid leakage etc.
3. The tables and graphs are only for reference. The design should be carried out with allowance fully taken into consideration. ke Cpereiin
4. The allowable offset graph of LKA0900 and LKA1050 is the same as that of Standard Model (Option : Blank). ccessoNes

Clamping Point Body Size 5]l Option : H selected
L: Lever Length (mm)
(Example) When using LKA0480-000-H

Supply Hydraulic Pressure 5.0 MPa, Lever Length L=80 mm Cautions / Others

Allowable offset is about 46 mm. Supply
Hydraulic Pressure E{l;/dralulic Pressure
_ ~ ~ ‘ _ N ‘ Hole Clamp
‘LKA0360 O00-H ‘ % IMPa IMP2 3MPa 4MPa SMPa 6MPa 7MPa LKA0650-1]CIC1-H 1MPa 2MPa 3MPa 4MPa SMPa A
Hydraulic Allowable Offset H (mm) Non-Usable Range () f Hydraulic Allowable Offset H (mm) Non-Usable Range () 90 | / /1 /1 /1, T
Pressure LeverlengthL (mm) / Pressure LeverlengthL(mm) % I / / / 1/ //6MP3 B
(MPa) ngo ngo ngo L=51500 g 0 | / / (MPa) L=41;)0 L=51620 L=61740 L=71960 E ” / / / / / //7Mpa %
25 | 31 | 45 | 59 E 47 | 60 | 73 | 85 £ _Ha
27 | 34 | 49 | 64 T 5 / 51 | 65 | 79 | 92 T 60 / / / / ,/ LHC
29 | 37 | 53 | 70 ] / 56 | 71 | 86 | 101 g 5 / / LHS
2 [ 4 | 59 | 77 5 62 | 78 | 94 | 11 5 / aw
35 | 45 | 65 | 85 © / 69 | 87 | 105 | 123 L 40 / T a—
40 | 51 | 73 | 9% 5 2 1 /7 77 | 98 | 118 | 139 2 / / //// LG
46 | 58 | 84 | 110 z 88 | 112 | 135 | 158 z 30 /// TLA-2
53 | 68 | 98 | 128 Z 10 103 | 130 | 157 | 185 =z 2 // TLB-2
64 | 82 | 118 | 153 U 123 | 156 | 189 | 222 / TLAa
80 | 102 | 147 | 192 154 | 195 | 236 | 277 10 —
106 | 136 | 196 | 256 0 206 | 260 | 315 | 369 0
159 | 204 | 294 | 384 0 20 40 60 80 100 309 | 390 | 472 | 534 0 25 50 75 100 125 150 175
Lever Length L (mm) Lever Length L (mm) LKC
aUFéP'Yr b E{l;/’c)i’r);)(mc Pressure LKW
yaraulic Pressure o,
LKA0400-0J0I0-H 60 1MPa 2MPa 3MPa 4MPa SMPa 6MPa 7MPa < LKA0750-U0JL-H 1MPa_ 2MPa 3MPa 4MPa 5MPa ML
Hydraulic Allowable Offset H (mm) Non-Usable Range () / / Hydraulic Allowable Offset H (mm) Non-Usable Range () I / / (VA2
Pressure Lever Length L (mm) Pressure Lever Length L (mm) 100 / /- 6MPa TMA-1
(MPa) 1 1=50 [ =60 | 1=80 [L=100 50 / (MPa) [L=100(L=120[L=140[L=160 / o
24 | 31 | 46 | 60 € | / / 43 | 56 | 68 | 80 E 4 yavi Work Support
26 | 34 | 49 | 64 E 4 / / ] 47 | 60 | 73 | 87 £ / / /P LD
28 | 37 | 53| 70 T / 51 | 65 | 79 | 94 T / LC
31 | 40 | 58 | 76 g / 55 | 71 | 87 | 102 g &0 / / e
34 | 44 | 64 | 84 5 30 / 61 | 78 | 95 | 113 5 /// e
TC
38 | 49 | 71 | 93 @ / / 67 | 87 | 106 | 125 @ / / ac
42 | 55 | 80 | 105 T 2 / 76 | 97 | 119 | 141 S 40 / Air Sensing
48 | 63 | 91 [ 120 5 // / 87 | 111 | 136 | 161 H / y Lift Cylinder
57 | 73 | 106 | 140 = 101 | 130 | 159 | 188 = / LLw
68 | 8 | 128 | 168 10 121 | 156 | 190 | 225 20 / E—
85 110 | 160 | 210 152 | 195 | 238 | 281 Compact Cylinder
113 | 146 | 213 | 279 0 202 | 260 | 317 | 375 0 T
1 45 | 70 | 102 | 120 | 170 | 220 | 319 | 419 0 20 40 60 80 100 120 1 87 | 130 | 162 | 216 | 303 | 390 | 476 | 563 0 25 50 75 100 125 150 175 R
Lever Length L (mm) Lever Length L (mm) LLU
auréplyl' b DP
- _ yaraulic Pressure
‘LKA°48° UOO-H ‘ 60 1MPa 2MPa 3MPa 4MPa SMPa 6MPa 4———————— bR
Hydraulic Allowable Offset H (mm) Non-Usable Range (%) { bs
Pressure LeverlengthL (mm) / / 7MPa br
(MPa) 1=60 | =80 [L=1001=120 50 / / ,
22 33 44 55 € / / Block Cylinder
| 24 | 36 | 47 | 59 E L / / DBA
26 | 39 | 51 | 64 z y DBC
29 | 4 | 56 | 70 g A R
31 | 46 | 62 | 77 30 / o
o
35 5 &8 = S / 7 Centering Vise
39 | 58 | 77 | 9% 2 2 A _fva
45 | 66 | 88 | 110 z /44 FvD
52 | 77 | 103 | 128 = / FVC
63 | 93 | 123 | 153 10
78 116 | 154 | 192 Control Valve
105 | 155 | 205 | 256 o a7
1 43 | 62 | 89 | 119 | 157 | 232 | 308 | 384 0 20 40 60 80 100 120 140 =
Lever Length L (mm) BZX/JZG
E{ugplyl' P lletCl
_ _ lydraulic Pressure Pallet Clamp
LKA0550-LIJ0-H 80 1MPa 2MPa 3MPa 4MPa 5MPa 6MPa 4 v
Hydraulic Allowable Offset H (mm) Non-Usable Range (H) I / / / / / 5
Pressure LeverLengthL (mm) 70 7MPa —
(MPa) =70 | 1=80 [1=100[1=120 _ / / / // Expansion Locating Pin
35 | 4 | 56 | 70 £ 60 BV
37 | 45 | 60 | 76 £ / / / / / // VRL
41| 49 | 65 | 82 T 50 L
44 | 53 | 71 | 89 g / / // / VFJ
49 | 59 | 79 | 98 g 40 / / VFK
54 | 65 | 87 | 109 EA / A //
61 | 73 | 98 | 123 s /
20 84 2 141 g /// Pull Stud Clamp
81 | 98 | 131 | 164 z 0 / Fp
97 | 117 | 157 | 197 10 FQ
122 | 147 | 196 | 246 Customized
15 | 46 | 63 | 96 | 129 | 162 | 196 | 262 | 328 0 Spring Cylinder
! 70 | 94 [ 144 | 194 | 244 | 293 | 393 | 492 0 20 40 60 80 100 120 140 ~ _DWA/DWB

Lever Length L (mm)
571 572



Link Clamp Index Model No. Indication | Performance |  External Air Sensing | Lever Design ) Cautions

Double Action Link Clamp Standard Model model LKA Digest Cross Section | Specifications Curve Dimensions |  Option Dimensions | ccessories P.659 K.§MEK

Harmony in Innovation

. . .. . . . . . High-Power
@© External Dimensions @© Machining Dimensions of Mounting Area @ Model No. Indication Series
C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included) (Format Example:LKA0550-CC, LKA0750-SR-H) o
i . Release Port ¢ P35 Pneumatic Series
% The drawing shows the locked state of LKA-CC. (C/-G onti Il Body Size
option)
— C L siank 1 Design No
Release Port : GThread  JA B > gn No.
(Only for -C option. H — K L K A O 4 8 O - G C - H Piping Method CEOEX:
Speed Control Valve Port) T Lever Direction = Hydraulic Unit
o W L type B S R - K n Lever Direction Manual Operation
/ Lock Port ¢ P*5 @ Accessories
i 2-Chamfer 1 (-C/-G option) é ﬁ é . Cautions / Others
% f()\ Link Lever (Prepared by customer) 4-CA Screw’3 DK [3 option
@ N / Lever Direction C type
T4 = [ ] / s e Notes : Hole Clamp
U E = T N Remove all burrs* ¢ 1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
> . i 63555 06 2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring.
M Swing Clamp
. . . . . . . LHA
m © External Dimensions and Machining Dimensions for Mounting (mm) he
hread P 4-¢R i %4 Model No. LKA0360-(1] | LKA0400-[1C] | LKA0480-10] | LKA0550-000] | LKA0650-(]01 A LKA0750-00] | LKA0900-[10] | LKA1050-CIC] eSS
G Thread Plug Spot Facing ¢ Q LHW
o Full Stroke 18.5 20.5 235 26 29.5 35 41 49 T/LG
Lock Port : G Thread ;et";;D”e“'on Lock Stroke 16 175 205 23 265 32 38 46 e
(Only for-C option: Y Extra Stroke 25 3 3 3 3 3 3 3 TLB-2
Speed Control Valve Port) AA ~._ i A 785 875 99 1105 1275 151 180 209 TLAT
~| 4¢ B 49 54 61 69 81 94.5 109.5 127
~= C 40 45 51 60 70 85 100 120 LKA
D 36 40 48 55 65 75 90 105 Lre
< 2-Chamfer2 N . LKW
s otes : E 48 54 60 65 735 84 101 15 LD
ﬁ %3. CA tapping depth of the mounting bolt should be decided F 23 29 32 37 435 47 61 65 IMAL
E, according to the mounting height referring to dimension 'S'. G 25 25 78 28 30 37 40 50 TMA-1
° \l %4. The depth of the body mounting hole @ D should be decided H 29 315 35.5 39 46 52 59.5 67 Work Support
'_ é x| o according to the mounting height referring to dimension 'F'. J 20 225 255 30 35 25 50 60 0
=2 %5. The machining dimension is for -C/-G : Gasket option. K 314 34 40 47 55 63 75 38 LC
< .
S L 66 72 81 88 106 16 136 152 IQ‘C
#115° 2-0AE 3 M 11 11 12 12 13 16 16 19 Al Sensing
< o 1 N = Nx 235 26 30 335 39.5 45 525 60 Lift Cylinder
& Ny 8 9 1 12 15 16 18.5 22.5 w
= ) ..
w @ Plplng MethOd P 3 3 3 3 5 5 5 5 Compact Cylinder
G : Gasket Option (With R Thread Plug) Q 75 9 9 1 11 14 17.5 20 LL
N % The drawing shows the locked state of LKA-GC. R 45 55 55 6.8 6.8 9 1 14 ttz
S 15.5 15 16 13.5 16 175 17 23 DP
R Thread P! max.2mm T 27 30.5 35 375 45 55 64.5 77 DR
read Fug u 10 12 14 16 20 2 28 35.5 DS
#DY) \If @} 2@ v 225 25 29 315 37 45 52 62 b
; =r- W 30 30.5 345 35.5 39 48 52.5 64 Block Cylinder
] X 20 22 26 30 355 435 52.5 64 DBA
Nx L] Y n 13 13 16 19 25 28 2 pec
) Z 19 21 24 28 37 40 49 64 Centering Vise
(L‘éC/kGPO“t{ O')””g (Included) Chamfer 1 Q a a a3 c4 10 i (®152) FVA
option Chamfer2 25 3 3 3 cs cs R16 R18 D
AA 145 16 185 21 245 30 36 44 e
5] S : Piping Option (Rc Thread) AB 743 777 924 1019 114 130.8 146.5 1736 Control Valve
= %The drawing shows the locked state of LKA-SC. AC 473 50.2 61.2 71.7 787 90.8 104.6 122.5 BZL
2 BZT
=z AD 5 6 6 6 8 10 12 15 Taovge
BZX/JZG
Release Port AE 5 6 6 8 10 12 15 18
i | Rc Thread Pallet Clamp
Release Port : O-ring (Included) B L @5 2@ AG 19.6 20.2 18.9 19.9 20.5 214 224 231 s
(—eC/—G optior']) d %ﬁ T = [T CA (Nominal X Pitch) | M4X0.7 M5X0.8 M5X0.8 M6X1 M6X1 M8X1.25 M10X1.5 M12X1.75 v
N ] JA 35 35 35 35 4.5 45 45 45 B
L \ L | | Expansion Locating Pin
= P nin 1B 14 14 14 14 19 19 22 22 v
= = @ @ Lock/ -Coption G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 VEM
Lock Port Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 VFJ
Rc Thread R Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 VR
Notes : 0-ring (-C/-G option) 1BP5 1BPS 1BPS 1BP5 1BP7 1BP7 1BP7 1BP7 pull Stud Clamp
% 1. Flange inclination angle is 12°only for LKA0650. FP
%2. Mounting bolts are not provided. Please prepare them FQ
according to the mounting height referring to dimension 'S'. g;rsitr?mcize\}idnder
1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever. #/DWB

573 574



Link Clamp Index Model No. Indication | Performance |  External Air Sensing | Lever Design Cautions

Double Action Link Clamp Double End Rod Option for Dog model LKA-D Digest | Cross Section | Specifications Curve Dimensions |  Option Dimensions | ccessories P.659 KOSMEK

Harmony in Innovation

. . .. . . . . . High-Power
© External Dimensions @© Machining Dimensions of Mounting Area @ Model No. Indication Series
C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included) (Format Example:LKA0550-CCD, LKA0750-SRD-H) o
) . Release Port ¢ P4 Pneumatic Series
% The drawing shows the locked state of LKA-CCD. (/-G opti Il Body Size
option)
Hydraulic Seri
Release Port : G Thread JA B > C L Blank Design No.
1GT >
(Only for -C option: H ) L K A O 4 8 O - G C D - H Piping Method Ve /e s
Speed Control Valve Port) = Lever Direction > Hydraulic Unit
ﬁl/ L type J S R - K Lever Direction P ——
i A !
‘ Lock Port ¢ P4 @ Action Confirmation (When D is chosen) cassories
i 2-Chamfer 1 (-C/-G option) é ﬁ é é . Cautions / Others
% f()\ Link Lever (Prepared by customer) 4-CA Screw’3 DK [ Option
@ N / Lever Direction C type
E\W 9 = LS Remove all burrs *4 ) D*Y? Notes: Fole amp
U E T N 1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
> - o 6354 06 2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring.
R Swing Clamp
Il . . . . i LHA
m © External Dimensions and Machining Dimensions for Mounting (mm) LHC
hread Pl 4-¢R I’ Model No. LKA0360-(1CID | LKA0400-[1(ID | LKA0480-C1CID | LKA0550-(JCID | LKA0650-1CID ALKA0750-CJCID | LKA0900-[IID | LKA1050-CICID _LHs
G Thread Plug Spot Facing  Q Lhw
LeverD / potFacing Full Stroke 185 205 235 26 295 35 41 49 e
Lock Port : G Thread Ret\’; ,;e rection Lock Stroke 16 175 205 23 26.5 32 38 46 e
(Only gor € 0p|ti0r|11 Extra Stroke 25 3 3 3 3 3 3 3 TLB-2
Speed Control Valve Port) AA A 89 100.5 12 1235 140.5 164 193 222 TLAT
| A¢ B 49 54 61 69 81 94.5 109.5 127
™ C 40 45 51 60 70 85 100 120 LKA
° D 36 40 48 55 65 75 90 105 ke
X @) 2-Chamfer2 . LKW
g ~ Notes : E 48 54 60 65 73.5 84 101 115 M/LJ
g %3. CA tapping depth of the mounting bolt should be decided F 23 29 32 37 435 47 61 65 e
— 5 according to the mounting height referring to dimension 'S'. G 25 25 28 28 30 37 40 50 TMA-1
B \l %4. The machining dimension is for -C/-G : Gasket option. H 29 315 355 39 46 52 595 67 Work Support
— g = g J 20 225 25.5 30 35 42.5 50 60 LD
wv
Z<) K 314 34 40 47 55 63 75 88 L
S L 66 72 81 88 106 116 136 152 IQ‘C
#115° 2-0AE - M n 1 12 12 13 16 16 19 Al Sensing
< ol | 1 3 J% Nx 235 26 30 335 39.5 45 52.5 60 Lift Cylinder
% Ny 8 9 1 12 15 16 18.5 22.5 w
= n ..
il @ Plplng Method P 3 3 3 3 5 5 5 5 Compact Cylinder
w . .
6D G : Gasket Option (With R Thread Plug) Q 75 9 9 1 1 14 175 20 LL
N D:‘z % The drawing shows the locked state of LKA-GCD. R 45 5.5 5.5 6.8 6.8 9 1 14 ttzi
¢ S 15.5 15 16 13.5 16 17.5 17 23 DP
QE max.2mm T 27 30.5 35 375 45 55 64.5 77 DR
R Thread Plug
o® ] [ u 10 12 14 16 20 22 28 355 DS
° e [ ] vV 22.5 25 29 31.5 37 45 52 62 or
IR \ | W 30 305 345 355 39 48 525 64 Block Cylinder
2 A ) ( [ 1] X 20 22 26 30 35.5 435 525 64 DBA
81— £ L L] Y T 3 13 16 19 25 28 32 DBC
— x
wl
VA 19 21 24 28 37 40 49 64 Centering Vise
Nx DD Screw Chamfer 1 Q a 3 a ca 10 n (#152) FVA
Lock Port : O-ring (Included) ] Chamfer 2 Q25 a (&} a3 cs5 cs R16 R18 LA
(-C/-G option) AA 145 16 185 21 245 30 36 44 Fve
S : Piping Option (Rc Thread) AB 743 777 924 1019 1114 130.8 146.5 1736 Control Valve
%The drawing shows the locked state of LKA-SCD. AC 473 50.2 61.2 717 787 90.8 104.6 122.5 Bzt
2 BZT
= Release Port AD 5 6 6 6 8 10 12 15 erze
N elease rFor e
= Rc Thread AE 5 6 6 8 10 12 15 18 Pallet Clamp
3 L @; 2@ AG 19.6 20.2 18.9 199 20.5 214 224 23.1 Y
) © e e e L f CA(Nominal X Pitch) | M4x07 | M5x0.8 | M5X08 M6 1 M6x1 M8x125 | MIOX15 | M12x175 B
Release Port : O-ring (Included) = ] JA 35 35 35 35 45 45 45 45 -
(-C/-G option) B . \ 2 | | Expansion Locating Pin
CIDC =F = nEEN JB 14 14 14 14 19 19 22 22 VSR
e @ @ DA 8 12 14 14 14 18 18 18 VFM
Lock Port DB 10.5 13 13 13 13 13 13 13 VFJ
Rc Thread DC 6 10 12 12 12 16 16 16 BALL
Notes : DD (NominalPitchxDepth)  M4X0.7X10 | M6X1x15 | M8x1.25X18 | M8X1.25X18 | M8X125X18 | MI0X1.5X21 | MI0X1.5X21 | MIOX15X21 by s1ud Clamp
%1. Flange inclination angle is 12°only for LKA0650. Lock/ | -Coption G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 FP
%2. Mounting bolts are not provided. Please prepare them Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 FQ
according to the mounting height referring to dimension 'S, RThread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 gus.“’mize.d
. . . . . pring Cylinder
1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever. 0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 T DwADWE

575 576



Link Clamp Index Model No. Indication | Performance |  External Air Sensing | Lever Design Cautions

Double Action Link Clamp Air Sensing Manifold Option model LKA-M Digest | Cross Section | Specifications Curve Dimensions |  Option Dimensions | ccessories P.659 KOSMEK

Harmony in Innovation

. . - . . . . . High-Power
© External Dimensions @© Machining Dimensions of Mounting Area @ Model No. Indication Series
C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included) (Format Example:LKA0550-CCM, LKAO750-SRM-H) < seri
%The drawing shows the locked state of LKA-CCM Release PortgP *6 < = neumatieseries
X g shows the locked state o . .
(-C/-G option) \ C L [l Body Size
Release Port : GThread ~ JA B S Blank Design No.
- =
(Only for -C option: H e N L K A O 4 8 O - G C M = H Piping Method LIy
Speed Control Valve Port) T Lever Direction = Hydraulic Unit
Tl W L type 7 S R = K Lever Direction Manual Operation
/ Lock Port ¢ P %6 @ Action Confirmation (When M is chosen) Accessories
i 2-Chamfer 1 (-C/-G option) é ﬁ é é . Cautions / Others
t 7R\ Link Lever (Prepared by customer) 4-CA Screw 4 DK [3 option
N> / Lever Direction Ct
o) ype
T4 = [ i1/ 6 Notes : Hole Clamp
ul X = T N Remove all burrs 1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
a > : 2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring. SFC
= = 1 635%6\  C0.6 .
‘ Swing Clamp
LHA
71% 5Dr03 © External Dimensions and Machining Dimensions for Mounting (mm) I
G Thread Plug 4-¢R at } h Model No. LKA0360-[1[IM | LKA0400-[1(JM | LKA0480-[1CJM | LKA0550-[1CIM | LKA0650-[1C]M | LKA0750-[]CIM | LKA0900-[ICIM | LKA1050-C]CIM LHS
Spot Facing ¢ Q H 30 l Full Stroke 18.5 20.5 23.5 26 29.5 35 41 49 LHW
Lever Direction / o = o % S Lock Stroke 16 17.5 20.5 23 26.5 32 38 46 LT/LG
Lock Port : G Thread R tvoe 5| * gt ® MAs 2| Extra Stroke 2.5 3 3 3 3 3 3 3 TLA-2
(Only for -C option: yp £ 300 @ = A 78.5 88.5 100 114 1345 153 186 223 TLB-2
Speed Control Valve Port) S k] B * B 49 54 61 69 81 94.5 109.5 127 TLA-1
AA . ={ L) o) C 40 45 51 60 70 85 100 120 —
I = . D 36 40 48 55 65 75 9 105
I~ s = E 48 55 61 68.5 80.5 86 107 129 LKA
= Fm 23 30 33 40.5 50.5 49 67 79 LKC
@ o A~/ | 2-Chamfer2 = L s G 25 25 28 28 30 37 40 50 LKW
sl Y 1m0 | z =\ H 29 315 355 39 46 52 59.5 67 Wl
a — - J 20 225 25.5 30 35 425 50 60 A
g Ay, — N\ K 314 34 40 47 55 63 75 88 T
ki 7 i v Py L 66 72 81 88 106 116 136 152 E——
2 I \I g (_3% H:i 2-$4~6 M 11 1 12 12 13 16 16 19 Work Support
— g > g 5 3 Remove all burrs Nx 23.5 26 30 33.5 39.5 45 52.5 60 LD
> & > Ny 8 9 11 12 15 16 185 225 c
Q! = P MC Air Vent Port 3 P 3 3 3 3 5 5 5 5 ENTe
- Q 7.5 9 9 1 1 14 17.5 20 TC
2-pAE 5 Notes : R 4.5 5.5 5.5 6.8 6.8 9 il 14 Air Sensi
< H % 3. Air vent port must be open to the atmosphere, and S 15.5 15 16 13.5 16 17.5 17 23 L"Ifrt CeyTisn‘der
© & prevent coolant and chips from entering the air vent port. T 27 305 35 375 45 55 64.5 77 LW
2 3 4. CA tapping depth of the mounting bolt should be decided \Lj 21205 ;é ;‘9‘ 31165 ég ‘Zé ég 365;
3 . . . . . L e . . Compact Cylinder
w according to the mounting height referring to dimension 'S'. W 30 305 345 355 39 48 55 64 e
6D 01 % 5. The dimensions indicate those under the flange. X 20 22 26 30 35.5 435 52.5 64 LR
=z =02 % 6. The machining dimension is for -C/-G : Gasket option. Y 11 13 13 16 19 25 28 32 LU
z 19 21 24 28 37 40 49 64
Lock Chamfer 1 Q a3 & &) 4 10 cn (¢152) B
4 E@ Confirmation Port Chamfer 2 2.5 a (&] a3 cs cs R16 R18 bR
. —£ (A @© Piping Method AA 14.5 16 18.5 21 24.5 30 36 44 by
"""" . X . AB 74.3 777 924 101.9 111.4 130.8 146.5 173.6 bT
w| 3-0-ing (included) Release G - Gasket thlon (With R Thread Plug) AC 473 50.2 61.2 71.7 78.7 90.8 1046 1225 Slock Cylinder
= Confirmation Port % The drawing shows the locked state of LKA-GCM. AD 5 6 6 6 8 10 12 15 e
==z (Air) AE 5 6 6 8 10 12 15 18 beA
max.2mm AG 19.6 20.2 189 19.9 20.5 214 224 23.1 _bec
ok R Thread Plug CA (Nominal X Pitch) | M4x0.7 M5X0.8 M5X0.8 M6x 1 M6X1 M8X1.25 MI0X15 | MI2X175 o
A 35 3.5 3.5 3.5 4.5 4.5 4.5 45 Ce”te”F+V‘se
. . p JB 14 14 14 14 19 19 22 22
Air Vent Port 3. ¢ MArs — MA® 34538 3885 4530 453 4530 S BT B FVD
I I MAH8 34.5+8.039 38+0039 4S+8039 45+0039 45+3039 53+8046 53+0045 53 +0.046 FVC
Nx MB 31 36 40 40 40 59.5 59.5 59.5 c Val
MC 357 392 462 46.2 46.2 54.2 54.2 54.2 ContolValve
Lock Port : O-ring (Included) MD 32,5 40 43 50.5 60.5 61 79 91 Bzt
(-C/-G option) ME 455 56.5 63.5 71 81 93.5 1.5 123.5 BZT
T~ S : Piping Option (Rc Thread) MF 235 30.5 335 41 51 49.5 67.5 79.5 BZX/1ZG
g ; MG 4.5 5 5 5 5 5.5 5.5 55
%The drawing shows the locked state of LKA-SCM. MH 5 9 9 9 9 5 5 5 PalletClamp
2 Release Port M) 4 75 15 15 15 20.5 20.5 20.5 ﬁi
MK 6 7 7 7 7 1 1 il L
2 ReThread (® ® ML 56 68 75 825 925 1105 1285 1405 Eepanson Locaing i
= . o Lock/ -Coption G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 VT
/ -IT)E I I ReLeaszPTrt -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rc1/4 Rc1/4 Rc3/8 Rc3/8 Y
. L. S| R Thread Plug |-G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 -
?‘E'/eaéi':;’ign)o fing (Included) = uats 0-ring (-C/-G option) 18P5 18P5 18P5 18P5 18P7 18P7 18P7 18P7 R
Lock Port @2 (@ 3-0-ring AS568-025(70) | AS568-028(70) | AS568-030(70) | AS568-030(70) | AS568-030(70) | AS568-032(70) | AS568-032(70) | AS568-032(70) R
Rc Thread PullStud Clamp
Notes : FP
%1. Flange inclination angle is 12°only for LKA0650. @
%2. Mounting bolts are not provided. Please prepare them g“fitn"mcizfidnder
according to the mounting height referring to dimension 'S'. pg[)\jvw

1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as mounting pin for lever.

577 578



Double Action Link Clamp Air Sensing Piping Option

@ External Dimensions

C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included)
%The drawing shows the locked state of LKA-CCN.

JA B
Release Port : G Thread H 1
(Only for -C option: T Lever Direction

model LKA-N

@© Machining Dimensions of Mounting Area

Release Port ¢ P#5
(-C/-G option)

Lock Port ¢ P*5 /

(-C/-G option)
4-CA Screw*4

Ny Ny

Speed Control Valve Port) ‘ L type
/ 2-Chamfer 1
‘ @/ Link Lever (Prepared by customer)
o ‘ Lever Direction C type
ShS -
4 T
10 5 =4 T "
=z [
‘ \_4¢R
G Thread Plug ‘ Spot Facing Q
Lever Direction /| | |
Lock Port : G Thread RetvereDlrectlon R
(Only for -C option: P
Speed Control Valve Port) AA
syl
[~
(V]
S Y 2-Chamfer2
=1y
(Yl
E .
B < (A
T— ) Nt/ \l
. L §
-l & oU |/ 1Y 2
g S ()
S \\% =
115° =\ O AE 5
< o [H= o
> w
= 6D}
o
Vany Lock Confirmation Port
N Rc1/8 (Air)
\J ol o
ﬁ= = Release Confirmation Port
i Rc1/8 (Air) i
N 2l _
NE _|||_NE Air Vent Port %3 _~
926
O NA NF X *
Lock Port : O-ring 2-NH Screw3
(Included)
Only LKA0360 7({/_(5 option) L
N
o
> [ -
> — =4
= (
Release Port : O-ring _}
(Included)
(-C/-G option) Nx

Notes :

% 1. Flange inclination angle is 12°only for LKA0650.

%2. Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension 'S'.

% 3. Air vent port must be open to the atmosphere, and
prevent coolant and chips from entering the air vent port.
If exposed to coolant, install an attachment on NH screw to
prevent coolant and chips, but do not block the air vent hole.

1. Please use the provided pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60)

as mounting pin for lever.

579

. +0.3
Remove all burrs *5 oD o

6.35%5 C0.6
I
I

Notes :
% 4. CA tapping depth of the mounting bolt should be
decided according to the mounting height referring
to dimension 'S".

% 5. The machining dimension is for -C/-G : Gasket option.

© Piping Method
G : Gasket Option (With R Thread Plug)
% The drawing shows the locked state of LKA-GCN.

max. 2mm

R Thread Plug

S : Piping Option (Rc Thread)
% The drawing shows the locked state of LKA-SCN.

Release Port

Rc Thread W@
(e===ut 4
i ===y i
P 5 -
{:7 - e=a "t,"
Lock Port &ﬁ
Rc Thread

@© Lock/Release Confirmation Port Phase

3% The drawings shown are for LKA0400~LKA1050.

N :Standard

Link Clamp
Digest

Index
Cross Section

@ Model No. Indication

LKA

048

Model No. Indication
Specifications

o
|
CENONON®

Performance
Curve

External
Dimensions

Air Sensing
Option

Lever Design

Dimensions

Cautions
P.659

Accessories

KOSMEK

(Format Example : LKA0550-CCN, LKA0750-SRNC-H)

L NNC Blank
C NL L H
R nr -K
0

B o

[El Body Size

Design No.

Piping Method

[ Lever Direction

Action Confirmation (When N[ is chosen)

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve / Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

A option
Notes : Hole Clamp
1. For option -H, the material of link plate has higher intensity than that of standard plate, and the form of chamfering 2 is round. SFA
2. For option -K, flange pin is used as link pin (3 parts) and C type circlip is used as stop ring. SFC
Swing Clamp
LHA
© External Dimensions and Machining Dimensions for Mounting (mm) LHC
Model No. LKA0360-CJ0NC | LKA0400-00NI | LKA0480-00NT | LKA0550-0NI | LKA0650-00NC | LKA0750-00NT | LKA0900-COND | LKA1050-00ND LHS
Full Stroke 18.5 20.5 235 26 29.5 35 41 49 LHW
Lock Stroke 16 17.5 20.5 23 26.5 32 38 46 LT/LG
Extra Stroke 2.5 3 3 3 3 3 3 3 TLA-2
A 78.5 88.5 100 114 134.5 153 186 223 TLB-2
B 49 54 61 69 81 94.5 109.5 127 TLAT
C 40 45 51 60 70 85 100 120 E—
D 36 40 48 55 65 75 90 105
E 48 55 61 68.5 80.5 86 107 129 LKA
Fn 23 30 33 40.5 50.5 49 67 79 LKC
G 25 25 28 28 30 37 40 50 LKW
H 29 315 35.5 39 46 52 59.5 67 M/LJ
J 20 225 255 30 35 425 50 60 VA2
K 314 34 40 47 55 63 75 88 VAT
L 66 72 81 88 106 116 136 152 —
M 1 11 12 12 13 16 16 19 Work Support
Nx 235 26 30 33.5 39.5 45 52.5 60 T
Ny 8 9 1 12 15 16 18.5 225 c
P 3 3 3 3 5 5 5 5 ENTe
Q 7.5 9 9 1 11 14 175 20 T
R 4.5 5.5 5.5 6.8 6.8 9 1 14 S
s 155 15 16 135 16 175 17 23 o,
T 27 30.5 35 375 45 55 64.5 77 L
U 10 12 14 16 20 22 28 35.5 s
v 225 25 29 315 37 45 52 62 Compact Cylinder
w 30 30.5 345 35.5 39 48 52.5 64 T R
X 20 22 26 30 35.5 435 52.5 64 LR
Y 11 13 13 16 19 25 28 32 LU
z 19 21 24 28 37 40 49 64
Chamfer 1 Q & &) & 4 10 an ($152) oli
Chamfer 2 C2.5 a3 a3 (&) c5 cs R16 R18 DR
AA 14.5 16 18.5 21 24.5 30 36 44 DS
AB 743 77.7 924 101.9 1114 130.8 146.5 1736 DT
AC 473 50.2 61.2 717 787 20.8 104.6 122.5 Block Cylinder
AD 5 6 6 6 8 10 12 15 SO
AE 5 6 6 8 10 12 15 18 DEA
AG 19.6 202 189 19.9 20.5 214 224 231 DBC
CA (NominalxPitch) M4x0.7 M5x%0.8 M5X0.8 M6X1 M6X 1 M8x1.25 M10X1.5 M12X1.75 o
JA 3.5 3.5 3.5 3.5 45 4.5 45 45 Centering Vise
JB 14 14 14 14 19 19 22 22 FVA
NA 35.5 39.5 45 45 45 53 53 53 FVD
NB 31 36 40 40 40 59.5 59.5 59.5 FvC
NC 9 8.5 12 12 12 20 20 20 Control Val
ND 125 17.5 18 18 18 295 29.5 295 ontrol Valve
NE = 1 2 2 2 3 3 3 BZL
NF 17 18.5 20 20 20 24 24 24 _BZT
NG 25 29 29 29 29 38 38 38 BZX/JZG
NH (NominalPitchXDepth) | M3X0.5X6 | M3X0.5X6 | M3X0.5X6 | M3X0.5X6 | M3X0.5X6 | M4x07X7 | M4X0.7X7 | M4X0.7X7 Pallet Clamp
Lock/  |-Coption G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8
Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl/4 Rc3/8 Rc3/8 Vs
R Thread Plug | -G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 VT
0-ring (-C/-G option) 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7

Expansion Locating Pin
VFL
VFM
VFJ
VFK

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

580



Performance
Curve

Cautions
P.659

External
Dimensions

Model No. Indication
Specifications

Index
Cross Section

Link Clamp
Digest

Air Sensing
Option

Lever Design

) ; Accessories
Dimensions

model LKA-A K.SMEK

Harmony in Innovation

Double Action Link Clamp Quick Change Lever Type A

High-Power
Series

@© External Dimensions @© Machining Dimensions of Mounting Area @ Model No. Indication

C : Gasket Option (With Ports for Speed Controller : G-Thread Plug Included) (Format Example : LKA0550-CC-A, LKA0750-SR-A)

Pneumatic Series

581

%The drawing shows the locked state of LKA-CC-A. Release Port ¢ P *9 .
(-C/-G option) [l Body Size
C L . Hydraulic Series
Release Port : GThread  JA B N Design No.
- =
(Only for -C option: H ) R L K A O 4 8 O - G C = A Piping Method alelicoupley
Speed Control Valve Port) T Lever Direction = Hydraulic Unit
,,Ak,“ Tope v S R I3 Lever Direction Manual Operation
/ Lock Port ¢ P 6 @ Accessories
; 2-Chamfer 1 (-C/-G option) é ﬁ é . Cautions / Others
\ f()\\( Link Lever (Prepared by customer) 4-CA Screw4 DK [ Option A
. ﬁ /Lever Direction C type Note : S
g > B Remove all burrs #6 #D 133 1. When selecting [l Option A, unlike Blank/H/K, the lever mounting pin is not included. The dimensions of clamp main body are the same as Blank/H/K. SEA
| N
O N4 i SFC
> [ K . . . . . . . .
z 635%6\ | €06 © External Dimensions and Machining Dimensions for Mounting M)l
\ wing Clamp
C\ M Model No. LKA0360-[1C]-A LKA0400-[1(J-A| LKA0480-[1[1-A LKA0550-[](J-A | LKA0650-[1(]-A LKA0750-JC-A  LKA0900-[I]-A | LKA1050-(]C-A LHA
| N2/ m Full Stroke 185 205 235 26 295 35 41 49 LHC
G Thread Plug | 46R K %5 Lock Stroke 16 175 205 23 26.5 32 38 46 s
‘ Spot Facing Q ki S
Lever Direction / ‘ Extra Stroke 2.5 3 3 3 3 3 3 3 T/LG
Lock Port : G Thread Riype - A 81.5 91 102.5 114.5 131.5 156 187 216 TLA-2
(Only for -C option: B 49 54 61 69 81 94.5 109.5 127 TLB-2
Speed Control Valve Port SCSE 26 ~._ i C 40 45 51 60 70 85 100 120 TA
/X3\ \ﬁ AG® D 36 40 48 55 65 75 90 105
Bolt : SF AA < E 48 54 60 65 73.5 84 101 115 LKA
o o cover® ] F 23 29 32 37 435 47 61 65 o
b3 D N k 2 Chamfer 2 Notes : G 25 25 28 28 30 37 40 50 e
i / N i 71] %4. CA tapping depth of the mounting bolt should be decided H 29 315 355 39 46 52 59.5 67 VA2
E / a 7,:‘ ﬂ ar according to the mounting height referring to dimension 'S'. J 20 225 255 30 35 425 50 60 TMA-1
7 \ . ) ) —
P -6 AD ‘l. /_ A \I 5. The dePth of the body m'ountlr?g hole ¢ D shoulq be déCId?(il K 314 34 40 47 55 63 75 88 Work Support
— g Rod Pin 3~ 737, /Ly Lever i < o according to the mounting height referring to dimension 'F'. L 66 72 81 88 106 116 136 152 0
= % N / Jhevertn %6. The machining dimension is for -C/-G : Gasket option. M 1 11 12 12 13 16 16 19 LC
S N Nx 235 26 30 335 395 45 52.5 60 Tne
TC
#115° 2-¢AE = Ny 8 9 n 12 15 16 185 225 Al Sensing
< o [‘-_ - . gl P 3 3 3 3 5 5 5 5 Lift Cylinder
5 Q 75 9 9 n n 14 17.5 20 w
2[ . 3 o
w @ Plplng Method R 4.5 55 55 6.8 6.8 9 1 14 Compact Cylinder
G : Gasket Option (With R Thread Plug) S 15.5 15 16 135 16 17.5 17 23 LL
. 5 The drawing shows the locked state of LKA-GC-A. T 27 30.5 35 375 45 55 64.5 77 ttzi
V] 10 12 14 16 20 22 28 355 DP
max.2mm % 22.5 25 29 31.5 37 45 52 62 DR
R Thread Plug w 30 305 345 355 39 48 525 64 DS
& X 20 22 26 30 355 435 525 64 or
Y 1" 13 13 16 19 25 28 32 Block Cylinder
) @ : z 19 21 24 28 37 40 49 64 DBA
Nx e Chamfer 1 Q a a a c4 c1o cn (152) oBe
o 7 Chamfer 2 Q.5 3 a a 5 c5 R16 R18 Centering Vise
(L%C/kGP o'tt.' O;”"g (Included) ! AA 14.5 16 18.5 21 %5 30 36 44 FVA
/s option AB 743 777 924 1019 4 130.8 146.5 1736 D
AC 473 50.2 612 717 78.7 90.8 1046 1225 Fre
] S @ Piping Option (Rc Thread) AD 5 6 6 6 8 10 12 15 Control Valve
= %The drawing shows the locked state of LKA-SC-A. AE 5 6 6 8 10 12 15 18 B
BZT
2 elease Port AG 196 202 189 199 205 214 224 231 e
crease Tor CA (NominalxPitch) | M4x0.7 M5%0.8 M5x0.8 M6x1 M6 X1 M8X1.25 | MIOX15 | MI2X175
Rc Thread Pallet Clamp
Release Port : O-ring (Included) - === @ § SA 3 3 3 3 4 4 > > Vs
(-C/-G option) e e ] | 5B 2 2 30 35 45 50 58 73 "
ﬁ@ | SC 21 24 26 29 345 43 50 60 _ -
1 Expansion Locating Pin
- “p=-- sD 105 1.5 13 17 20 25 32 36 e
= @ G SE n 12.5 13 16.5 18.5 23 26 32 VFM
Lock Port SF (NominalXPitchXDepth) |  M3X0.5X6 M3X0.5X6 M3X0.5X6 M3X0.5X8 M4X0.7X8 | M4X0.7X10 | M5X0.8X12 | M5X0.8X12 VFJ
Rc Thread SG 35 4 5.5 7 8.5 9.5 11 13 VEK
Notes : JA 35 35 35 35 45 45 45 45 pull Stud Clamp
1. Flange inclination angle is 12°only for LKA0650. JB 14 14 14 14 19 19 22 22 Fp
%2. Mounting bolts are not provided. Please prepare them Lock/ -Coption G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8 FQ
according to the mounting height referring to dimension 'S'. Release Port | -S option Rc1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl1/4 Rc3/8 Rc3/8 g;fitn"gmciﬁidnder
% 3. Tightening Kit (LZK[_1-W) including the cover (with bolt), rod pin and lever pin is sold separately. R Thread Plug |-G option R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/8 R3/8 T DwADWE
0-ring (-C/-G option) 1BP5 18P5 18P5 1BP5 18P7 1BP7 1BP7 18P7

582



583

Double Action Link Clamp Air Sensing Option

model LKA-M/N

@© Air Sensing Option (Action Confirmation Method:- - -M : Air Sensing Manifold Option / N : Air Sensing Piping Option)

Applicable Model
Action confirmation can be conducted by detecting LKA 048 0 -
differential pressure with the air catch sensor connected

to lock confirmation port and release confirmation port.

[ About Air Catch Sensor

o0Or

Action Confirmation Method
: When M/N is chosen

Blank
g M A
S N[T| H
K
5

The air catch sensor is necessary to confirm the piston rod action.

The essential condition: Air catch sensor that have a consumption rate more than 22~25L/min (at 0.2 MPa) is needed.

Recommended Operating Air Pressure : 0.2 MPa

Recommended Air Catch Sensor

Manufacturer SMC CKD
Name Air Catch Sensor Gap Switch
Model No. ISAT, ISA2-H GPS2-07-15

In order to carry out stabilized detection, the number of clamps connected per one air catch sensor should be no more than 4.

The air pressure to the air catch sensor should be 0.2MPa.
Refer to the drawing below for the pneumatic circuit composition.

™ ™

Air Catch Sensor

Lock Confirmation é) — o @ % Sum
Release Confirmation é) _ 0.2MPa
) ) (Recommended)

[ Notes for Design - Installation + Use

©

@ Airvent port must be open to the atmosphere, and
prevent coolant and chips from entering the air vent
port. The air catch sensor can malfunction if the air
vent port is blocked.

|
x G G

o N

® When mounting the lever, match the marks on the piston
rod and cylinder. Detection is not possible if it is mounted
reversely by 180°.

@ Before mounting M : Manifold Model, apply adequate
amounts of grease on O-ring of the manifold.
The O-ring can be twisted or damaged when in a dry state.
If too much grease is applied, the air catch sensor
can malfunction due to overflow grease blocking

the detection port.

Link Clamp
Digest

[ Air Sensing Chart

Index
Cross Section

Model No. Indication
Specifications

Performance
Curve

External
Dimensions

Air Sensing
Option

Lever Design

Dimensions

Cautions
P.659

Accessories

KOSMEK

Number directly connected to clamp: 1

o
[N

(Supply Air Pressure)

Air Catch Sensor Set Pressure (ON)

Differential Pressure for Detection

Lock Air Pressure Detected (MPa)

I
I
I
I
I
I
L
ressure when Nozzle Opened

Pressure when Nozzle Closed

When locking after released state ~<|
0
1
5.5+05
(Lock stroke) | (Extra stroke)
gl
Release End Full stroke Lock End

0.5%05 *1 é
g
(Supply Air Pressure) “3
0.2 §
2
(=)

Air Catch Sensor Set Pressure (ON)

When releasing after locked state

Release Air Pressure Detected (MPa)

Pressure when Nozzle Opened

/

Pressure when Nozzle Closed

(]
X
o
=
wv
©
5
>
wl
()
= p
[e]
s
wv /
= D
7 e
g T Piston Rod
vl
[}
= -
w
=
(%3 =
o £,
—
Lock
Confirmation Port

(Lock Detection Air)

Release
Confirmation Port

(Release Detection Air)
Air Vent Port

1. Sensing chart shown is the relationship between the stroke and detection circuit air pressure.
2. The position where the air sensor has ON signal output varies as per the sensor setting.
3. The detection pressure varies depending on the number of clamps connected per circuit. (Maximum number of clamps connected : 4)
4. The features may vary depending on the air circuit structure. Please contact us for further information.
% 1. There is certain tolerance with regard to the position where the pressure for fully closing the detection nozzle is reached depending on
the clamp structure. (Refer to the sensing chart.)

Vodel N LKA0360-J0M | LKA0400-0J0M | LKA0480-00M | LKA0550-CJ0M | LKA0650-00M | LKA0750-CJ0M | LKA0900-J0M | LKA1050-000M
odel No.
LKA0360-ICN | LKA0400-CICIN | LKA0480-CCN | LKA0550-CICN | LKA0650-CCN | LKA0750-C1CN | LKA0900-CICN | LKA1050-C00N
Full Stroke mm 18.5 20.5 235 26 29.5 35 4 49
Lock Stroke mm 16 17.5 20.5 23 26.5 32 38 46
Extra Stroke mm 25 3 3 3 3 3 3 3
Number directly connected to clamp : 4 (for reference)
= (Supply Air Pressure) § (Supply Air Pressure)
E =
5 02 g 02
o g
g 2
= o}
2 ’ When locking after released state % ’ When releasing after locked state
v 5
S a
A 1]
4 &
% Air Catch Sensor Set Pressure (ON) z Air Catch Sensor Set Pressure (ON)
______________________________ ° S W e v ety il
< ©
] <@
Release End Lock End Release End Lock End

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve / Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA

LT/LG
TLA-2
TLB-2
TLA-1

LKA
LKC
LKW
LM/L)
TMA-2
TMA-1

Work Support
LD

Air Sensing
Lift Cylinder

LLW

Compact Cylinder

LL

LLR
LLU
DP
DR
DS
DT

Block Cylinder
DBA
DBC

Centering Vise
FVA
FVD
FVC

Control Valve
BZL
BZT
BZX/JZG

Pallet Clamp
VS
VT

Expansion Locating Pin
VFL
VFM
VFJ
VFK

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

584



Link Clamp Index Model No. Indication | Performance | External Air Sensing | Lever Design Cautions

Double Action Link Clamp Lever Design Dimensions / Accessories model LKA Digest | Cross Section | Specifications Curve | Dimensions | Option | Dimensions | NCS€SsOMi€s | "p gog KOSMEK

Harmony in Innovation

. . . . . . . . High-Power
© Link Lever Design Dimension @© Accessories : Material Link Lever Series

% Reference for designing link lever.
Pneumatic Series

Corresponding Model No. Blank BIan - éooI - **F\
LKA 0 - M- &=
B

(NoNe)
o0Or

Valve / Coupler

N H : Model No. Indication

Hydraulic Unit

K
ody Size é Option & MH7 ¢,\AIH7 L Z K 0 4 8 O - L Manual Operation

Size Design No. Accessories
(Refer to the table.) (Revision Number)

Cautions / Others

P Screw *! o \?— {§ —

N
¢ EH7 \\J

+
K L2007

Hole Clamp

/ |.|’P +002 <FA

//// (mm) SFC
v/ Model No. LZK0360-L | LZK0400-L | LZK0480-L | LZK0550-L | LZK0650-L | LZKO750-L | LZK0900-L | LZK1050-L Swing Clamp
77 o Corresponding Model No. | LKAO360 LKA0400 LKA0480 LKA0550 LKA0650 LKAO750 LKA0900 LKA1050 LHA
77 A 65 75 85 90 105 110 160 220

109, 1295 12 93 16_05 19 35 22 9, 25 95 324, LHW
12,5 14 16 20 25 32 38 45 LT/LG

5 6 6 8 10 11 13 16 TLA-2
12,5 14.5 16 16.5 21 25.5 30.5 36 %
R2.5 R3 R3 R4 R5 R5.5 R6.5 R8

10 12 13 13 175 22 26 30.5

45 55 6 6 8 10 1 13
14.5 16 185 21 24.5 30 36 44 w
45 55 6 6 8 10 1 13 LML

25 25 35 6 7.5 9.5 13 16 TMA-2
5 +8Ao12 6 +8Ao12 6 +8,o12 6 +8A012 8 +8Ao15 10 +8.o15 12 +8,o18 15 +8Ao18 TMA-1

—

M=2002

ZIZ x|« TIommoOlNn @

5 0012 6 0012 6 *0012 g 005 10 +005 12 0018 15 0018 18+0078 Work Support

7/ LD
5 Notes : LC

1.Material S45C CING
2.1f necessary, the front end should be additionally machined. TC

3.For E Option Blank/H/K, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin. Air Sensing
4.For [ Option A, the lever mounting pin is not included in the clamp. Lift Cylinder
: Please order Tightening Kit for Quick Change Lever Type A (LZK[_1-W). w
Corresponding ModelNo. | LKA0360 LKA0400 LKA0480 LKA0550 LKA0650 LKA0750 LKA0900 LKA1050 5.When using Tightening Kit for Quick Change Lever Type A (LZK[__1-W), a tapped hole should be additionally machined. Compact Cylinder

A 14,5 16 18.5 21 245 30 36 44 Refer to the link lever design dimensions (P Screw part) for additional machining. LL

LLR
12.5 14 16 20 25 32 38 45 LU

10-6, 12_03 12.03 160 1985 2243 2503 3284 DP
DR
DS

5 157" 65" 65" 85" 10767 12750 1575 1875 © Accessories : Tightening Kit for Quick Change Lever Type A o

5 6 6 8 10 1 13 16 Block Cylinder
Model No. Indication DBA

10 15 13 125 16 20 24 28

R2.5 R3 R3 R4 RS R5.5 R6.5 R8 LZK 040 0 - W _____ a -

J 10 12 13 13 175 22 26 30.5 plze [ pesignno

(Refer to the table.) (Revision Number)

Pz

© Calculation List of Link Lever Design Dimension
(mm)

. . 0.012 0.015 0.015 0.018 0.018
5 +84012 6+8012 6 +8012 6 +0 8 +0 1O+0 12+0 15+0

I OoO|m | m O N | w

Centering Vise
FVA
FVD

Bolt FvC
Lever Pin

Hex. Socket

R4.5 R5.5 R6 R6 R8 R10 R11 R13

4.5 55 6 6 8 10 n 13 Cover
Tightening Kit for mounting Quick Change Lever Type A.

Control Valve
BZL
BZT
BZX/JZG

2.5 2.5 3.5 6 7.5 9.5 13 16
4.5 5.5 6 6 8 10 n 13

P (NominalxDepfﬁ)] M3X0.5 Through | M3X0.5 Through | M3X0.5 Through |  M3X0.5X6 | M4X0.7 Through | M4X0.7X7 M5X0.8x8 M5X0.8X8 [Contents of Tightening Kit]
« Cover (with Bolt) + Rod Pin + Lever Pin

Z | Z2 - | =

Sold separately from clamp body. Rod Pin

Link Lever

Pallet Clamp
VS
VT

Notes :
1.Link lever should be designed with its length according to performance curve.

2.If the link lever is not in accordance with the dimension shown above, performance may be degraded and damage can occur. Expansion Locating Pin
3.For [ Option Blank/H/K, use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the lever mounting pin. (toetsl Mo LZK0360-W | LZK0400-W | LZK0480-W | LZKO550-W | LZK0650-W | LZKO750-W | LZK0900-W | LZK1050-W VFL

(Refer to external dimensions of the clamp body for the dimensions of ¢AD, $AE.) Corresponding Model No. | LKA0360-[_1-A | LKA0400-[_1-A LKA0480-[1-A | LKA0550-[1-A |LKA0650-[_1-A  LKA0750-[1-A |LKA0900-[J-A | LKA1050-[_1-A VEM
4.For [ Option A, the lever mounting pin is not included in the clamp. NominalxPitch of Bolt M3X%0.5 M3X%0.5 M3X%0.5 M3X%0.5 M4x0.7 M4x0.7 M5x%0.8 M5x%0.8 VF

Please order Tightening Kit for Quick Change Lever Type A (LZK[-W). Hex. Socket mm 25 25 25 25 3 3 4 4 _VEK
%1.Machining of P Screw is required only when using Tightening Kit for Quick Change Lever Type A (LZK[-W). Tightening Torque N*m 13 13 13 13 3.2 3.2 6.3 6.3

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

585 586



Hydraulic Link Clamp cautions model LKA/LKC/LKW/LM/LJ/TMA-2/TMA-1 Digest praky | Cautions KOSMEK

Harmony in Innovation

. High-Power
@ Cautions Series
i i i P tic Seri
@ Notes for Design @ Notes on installation. neumatic series
1) Check Specifications 1) Check the fluid to use. @ Tighten the bolt of Quick Change Lever Type A with the torque
® Please use each product according to the specifications. ® Please use the appropriate fluid by referring to the Hydraulic shown below.
N . Valve / Coupler
Fluid List (P.1237). Quick Change Lever Type A Hydraulic Upnit
2) Notes for Circuit Design Model No. Thread Size Tightening Torque (N-m)
" : . A . . LKA0360-[1(J-A M3X0.5 13 Manual Operation
@ Please read "Notes on Hydraulic Cylinder Speed Control Circuit 2) Mounting / Removing clamp. LKAO400-0 1A M3%05 13 -
on P.1238 to assist with proper hydraulic circuit designing. ® When mounting the clamp, use hexagon socket bolts as multiple LKA0480-[1[J-A M3X0.5 13
Improper circuit design may lead to malfunctions and damages. bolt holes for mounting (with tensile strength of 12.9) LKA0550-LIL-A M3x0.5 13 SLIMERLCE
. S . . . . . LKA0650-[1]-A M4x0.7 3.2
@ Ensure there is no possibility of supplying hydraulic pressure to and tighten them with the torque shown in the chart below. LKAO750-00-A MAX0T 32
the lock and release ports simultaneously. Tightening with greater torque than recommended can depress LKA0900-[1-A M5X0.8 63 Hole Clamp
the seating surface or break the bolt. LKA1050-0J0J-A M5x0.8 6.3 ;E?
3) Notes for Link Lever Design Bolt
@ Make sure no force is applied to the piston rod except the axial direction. Model No. Thread Size Tightening Torque (N-m) Cover Lever Pin Swing Clamp
X X LKA0360 M4x0.7 4.0 LHA
(Make sure the clamp surface and the mounting surface on the workpiece
LKA0400 M5X0.38 80 LHC
are parallel.) The usage like the one shown in the drawing below will LKC0400/LKW0401 ) ) Rod Pin LHS
apply a large bending stress to the piston rod and must be avoided. LKA0480 X ; LHW
ppyatars 9 P LKA LKC0480/LKW0481 Msx08 80 Link Lever LT/LG
LKC LKA0550 M6 1 14 TLA-2
LKW LKC0550/LKW0551 TLB-2
weossonwoes %! i e
LKAO750/LKW0751| M8 125 33 4) Speed Adjustment
LKA0900 M10X 1.5 65 ® Adjust the speed so that the total operating time is one second or
- -
LKA1050 M12x1.75 14 more. If the clamp operates too fast the parts will wear out leading
LMO300/L10302 Maxo7 = to premature damage and ultimately complete equipment failure
LM0360/LJ0362 M4x0.7 32 P 9 y comp quip :
LM0400/LJ0402 M5x0.8 63 @ Please make sure to release air from the circuit before adjusting
LM0480/LJ0482 M5%0.8 63 speed. It will be difficult to adjust the speed accurately with air
. . . L LM/L) LM0550/LJ0552 M6 1 10 . o Work Support
® If offset load is applied on the link part, use it within the allowable LM0650/L10652 M6 0 mixed in the circuit. E
range of "Allowable Offset Graph". LM0750/LJ0752 M8x 125 25 ® Turn the speed control valve gradually from the low-speed side c
LJ0902 M10x1.5 588 (small flow) to the high-speed side (large flow) to adjust the speed. TNC
. . . LJ1052 M12X1.75 98
TC
4) Wher‘1 using on a welding fixture, the exposed area of piston rod TP TR a0 . o o
and link plate should be protected. TMA0400 M5x0.8 6.9 5) Notes on Double End Rod Option (-D) for Dog Application Lift Cylinder
@ If spatter gets onto the sliding surface it may lead to malfunction TMA0600 M6X 1 11.8 ® When installing a dog, secure the dog and prevent any rotation or LLW
. TMA TMA1000 M8X1.25 25 . . .
and fluid leakage. TR TG 0 torque on the piston rod, and fix the width part of the rod end with Compact Cylinder
TMA2500 M12X1.75 98 a spanner. T
5) When clamping on a sloped surface on the workpiece. TMA3200 M12X1.75 98 o (@) LLR
. LLU
® Make sure the clamp surface and the mounting surface on (o) op
the workpiece are parallel. DR
3) Installation / Removal of the Link Lever DS
® When inserting the link pin, do not hit the pin directly with a hammer. o1
When using a hammer to insert the pin, always use a cover plate with Block Cylinder
a smaller diameter than the snap ring groove on the pin. %
Centering Vise
FVA
FVD
FVC
Model No. Thread Size Tightening Torque (N*m)
LKA0360-C)C]D M4 0.7 3.2 Control Valve
6) When using in a dry environment. LKA0400-00D M6X 1 10 BZL
® The link pin can dry out. Grease it periodically or use a special pin. LKA0480-CICID M8x1.25 25 BZT
: : . . LKA0550-0J0ID M8X1.25 25 BZX/JZG
Contact us for th ficat f | . 7 7 - —_
ontact us for the specifications for special pins LKA-D LKA0G50-00D MBX1.25 It .
LKA0750-010D M10X 15 50 P
7) Notes for LKA-M/N, LKW LKA0900-0101D M10X 15 50 ﬁ
@ When using air sensing link clamp (LKA-M/N, LKW), make sure to check LKA1050-0100D MIGAYTE) 20
. . Expansion Locating Pin
the Notes for Design - Installation - Use (Pages shown below). v
+ Link clamp with air sensing option LKA-M/N : Refer to P.583. VEM
« Link clamp with air sensing valve LKW : Refer to P.603. . i * Installation Notes  + Hydraulic Fluid List * Notes on Hydraulic Cylinder Speed Control Circuit VFJ
% Please refer to P.1237 for common cautions. . ) ) VFK
* NotesonHandling  * Maintenance/Inspection  * Warranty

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

659 660



Cautions

@ Cautions

@ Installation Notes (For Hydraulic Series)

1) Check the Usable Fluid
® Please use the appropriate fluid by referring to the Hydraulic Fluid List.

2) Procedure before Piping

@ The pipeline, piping connector and fixture circuits should be cleaned
by thorough flushing.

@ The dust and cutting chips in the circuit may lead to fluid leakage
and malfunction.

@ There is no filter provided with Kosmek’s product except for a part
of valves which prevents foreign materials and contaminants from
getting into the circuit.

3) Applying Sealing Tape

® Wrap with tape 1 to 2 times following the screw direction.

@ Pieces of the sealing tape can lead to oil leakage and malfunction.

@ In order to prevent a foreign substance from going into the product
during the piping work, it should be carefully cleaned before working.

4) Air Bleeding of the Hydraulic Circuit

@ If the hydraulic circuit has excessive air, the action time may become
very long. If air enters the circuit after connecting the hydraulic port
or under the condition of no air in the oil tank, please perform
the following steps.

( Reduce hydraulic pressure to less than 2MPa.
@ Loosen the cap nut of pipe fitting closest to the clamp by one full turn.
(3 Wiggle the pipeline to loosen the outlet of pipe fitting.

Hydraulic fluid mixed with air comes out.

@ Tighten the cap nut after bleeding.
® Itis more effective to bleed air at the highest point inside the circuit
or at the end of the circuit.

(Set an air bleeding valve at the highest point inside the circuit.)

5) Checking Looseness and Retightening
@ At the beginning of the machine installation, the bolt and nut may
be tightened lightly. Check the looseness and re-tighten as required.

® Hydraulic Fluid List

ISO Viscosity Grade 1SO-VG-32

Maker

Anti-Wear Hydraulic Oil

Multi-Purpose Hydraulic Oil

Showa Shell Sekiyu Tellus S2 M 32 Morlina S2 B 32
Idemitsu Kosan Daphne Hydraulic Fluid 32 | Daphne Super Multi Oil 32
JX Nippon Oil & Energy Super Hyrando 32 Super Mulpus DX 32
Cosmo Ol Cosmo Hydro AW32 | Cosmo New Mighty Super 32
ExxonMobil Mobil DTE 24 Mobil DTE 24 Light
Matsumura Oil Hydol AW-32

Castrol Hyspin AWS 32

Note As it may be difficult to purchase the products as shown in the table from

overseas, please contact the respective manufacturer.

Installation Notes
(For Hydraulic Series)

Notes on Hydraulic Cylinder

e vle e Lost Speed Control Circuit

@ Notes on Hydraulic Cylinder Speed Control Unit

Notes on Handling | Maintenance/Inspection

Warranty

é Please pay attention to the cautions below. Design the hydraulic circuit for controlling the action speed of hydraulic cylinder.
Improper circuit design may lead to malfunctions and damages. Please review the circuit design in advance.

® Flow Control Circuit for Single Acting Cylinder
For spring return single acting cylinders, restricting flow
during release can extremely slow down or disrupt release action.
The preferred method is to control the flow during the lock action
using a valve that has free-flow in the release direction.
Itis also preferred to provide a flow control valve at each actuator.

% ] %L@

Accelerated clamping speed by excessive hydraulic flow to

the cylinder may sustain damage. In this case add flow control to
regulate flow. (Please add flow control to release flow if the

lever weight is put on at the time of release action when using
swing clamps.)

Flow Control at the Release Side

.
LGl = e
Froreeeet = 0L

| o

® Flow Control Circuit for Double Acting Cylinder
Flow control circuit for double acting cylinder should have meter-out
circuits for both the lock and release sides. Meter-in control can
have adverse effect by presence of air in the system.
However, in the case of controlling LKE, TMA, TLA, both lock side
and release side should be meter-in circuit.
Refer to P.75 for speed adjustment of LKE.
For TMA and TLA, if meter-out circuit is used, abnormal high
pressure is created, which causes oil leakage and damage.

[Meter-out Circuit] (Except LKE/TMA/TLA)

—

t tf
X[

@

[Meter-in Circuit] (LKE/TMA/TLA must be controlled with meter-in.)

——

In the case of meter-out circuit, the hydraulic circuit should
be designed with the following points.

@ Single acting components should not be used in the same
flow control circuit as the double acting components.
The release action of the single acting cylinders may become

erratic or very slow.

S &

A X}

L1

®

Refer to the following circuit when both the single acting
cylinder and double acting cylinder are used together.

O Separate the control circuit.

=

o b o

A X A X}

[in} [in}

@

O Reduce the influence of double acting cylinder control unit.
However, due to the back pressure in tank line, single action
cylinder is activated after double action cylinder works.

— |
T

AX W

LN}

®

=

@ In the case of meter-out circuit, the inner circuit pressure may
increase during the cylinder action because of the fluid supply.
The increase of the inner circuit pressure can be prevented by
reducing the supplied fluid beforehand via the flow control valve.
Especially when using sequence valve or pressure switches for
clamping detection. If the back pressure is more than the set
pressure then the system will not work as it is designed to.

—-

X Sequence Valve

Flow Control Valve
(Any location is OK)

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve / Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Installation Note:
(For Hydraulic Series)

Hydraulic Fl t
Notes on Hydraul er
Speed Control Ci

Notes on Handling

Maintenance/
Inspection

Warranty

Company Profile
Company Profile
Our Products

History

Index

Search by
Alphabetical Order

Sales Offices

1238



. Installation Notes ) o Notes on Hydraulic Cylinder : - -
ca utions (For Hydraulic Series) Hydraulic Fluid List Speed Control Cicuit Notes on Handling | Maintenance/Inspection Warranty K.§MEK

Harmony in Innovation

1239

@ Cautions

@ Notes on Handling

1) It should be handled by qualified personnel.

® The hydraulic machine and air compressor should be handled
and maintained by qualified personnel.

2) Do not handle or remove the machine unless the safety protocols
are ensured.

® The machine and equipment can only be inspected or prepared
when it is confirmed that the preventive devices are in place.

@ Before the machine is removed, make sure that the above-mentioned
safety measures are in place. Shut off the air of hydraulic source
and make sure no pressure exists in the hydraulic and air circuit.

(3 After stopping the machine, do not remove until the temperature
cools down.

@ Make sure there is no abnormality in the bolts and respective parts
before restarting the machine or equipment.

3) Do not touch clamp (cylinder) while clamp (cylinder) is working.
Otherwise, your hands may be injured due to clinching.

X OQm

4) Do not disassemble or modify.
® If the equipment is taken apart or modified, the warranty will be
voided even within the warranty period.

® Maintenance and Inspection

1) Removal of the Machine and Shut-off of Pressure Source

® Before the machine is removed, make sure that the
above-mentioned safety measures are in place. Shut off the
air of hydraulic source and make sure no pressure exists in
the hydraulic and air circuit.

® Make sure there is no abnormality in the bolts and respective
parts before restarting.

2) Regularly clean the area around the piston rod and plunger.
® Ifitis used when the surface is contaminated with dirt, it may
lead to packing seal damage, malfunctioning, fluid leakage

and air leaks.

® Warranty

1) Warranty Period
® The product warranty period is 18 months from shipment from

our factory or 12 months from initial use, whichever is earlier.

2) Warranty Scope

@ If the product is damaged or malfunctions during the warranty
period due to faulty design, materials or workmanship, we will
replace or repair the defective part at our expense.
Defects or failures caused by the following are not covered.

@ If the stipulated maintenance and inspection are not carried out.

@ If the product is used while it is not suitable for use based on
the operator’s judgment, resulting in defect.

@ Ifitis used or handled in inappropriate way by the operator.
(Including damage caused by the misconduct of the third party.)

@ If the defect is caused by reasons other than our responsibility.

® If repair or modifications are carried out by anyone other than Kosmek,
or without our approval and confirmation, it will void warranty.

® Other caused by natural disasters or calamities not attributable to
our company.

@ Parts or replacement expenses due to parts consumption and

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve / Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Installation Notes
(For Hydraulic Series)

Hydraulic Fluid List

Notes on Hydraulic Cylinder
Speed Control Circuit

Notes on Handling
Maintenance/
Inspection

Warranty

Company Profile
Company Profile

Our Products

History
3) Please clean out the reference surface regularly (taper reference deterioration. —
surface and seating surface) of locating machine. (VS/VT/VFL/ (Such as rubber, plastic, seal material and some electric components.) Index
VEM/VEJ/VFK/WVS/VWM/VWK/VX/VXF) ety

® Location products, except VX/VXF model, can remove
contaminants with cleaning functions.
When installing pallets makes sure there is no thick sludge like
substances on pallets.

® Continuous use with dirt on components will lead to locating
functions not work properly, leaking and malfunction.

& & k’
[0}

Va)
O

X @)

4) If disconnecting by couplers on a regular basis, air bleeding

g

should be carried out daily to avoid air mixed in the circuit.

5

=

Regularly tighten nuts, bolts, pins, cylinders and pipe line to
ensure proper use.

6

=

Make sure the hydraulic fluid has not deteriorated.

7
® Especially when it is restarted after left unused for a long

-

Make sure there is smooth action and no abnormal noise.

period, make sure it can be operated correctly.

8

=

The products should be stored in the cool and dark place
without direct sunshine or moisture.

9

=

Please contact us for overhaul and repair.

Damages excluding from direct result of a product defect shall be
excluded from the warranty.

Alphabetical Order

Sales Offices

1240



893

Control Valve Speed Control Valve (For Low Pressure)

© Model No. Indication (Speed Control Valve for Low Pressure)

BZL 0 10

G Thread Size

0 -
=

model BZL

10 : Thread Part G1/8A Thread

20 : Thread Part G1/4A Thread
30 : Thread Part G3/8A Thread

Design No.

Thread Part

0 : Revision Number

Control Method

A : Meter-in A B
B : Meter-out Circuit Symbol : Meter-in Circuit Symbol : Meter-out
P1 port P1 port
Hydraulic Pressure P2 Port Hydraulic Pressure P2 Port
Supply Side Clamp Side Supply Side Clamp Side
© Specifications
Model No. BZL0100-A BZL0200-A BZL0300-A BZL0100-B BZL0200-B BZL0300-B
Max. Operating Pressure MPa 7
Withstanding Pressure MPa 10.5
Control Method Meter-in Meter-out
G Thread Size GI/SA | GI/AA | G3/8A GI/8BA | Gl/4A G3/8A
Cracking Pressure MPa 0.04 0.12
Max. Passage Area mm? 26 ‘ 5.0 ‘ 11.6 2.6 ‘ 5.0 10.2
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 ‘ 25 ‘ 35 10 ‘ 25 35

Notes: 1.

2. It must be mounted with recommended torque. Because of the structure of the metal seal,

if mounting torque is insufficient, the flow control valve may not be able to adjust the flow rate.

3. Don't use used BZL to other clamps.
Flow control will not be made because the bottom depth difference of G thread makes metal seal insufficient.

Minimum passage area when fully opened is the same as the maximum passage area in the table above.

Control Valve
Digest

© Applicable Products

Model No.

Indication

Specifications

Applicable
Products

Flow Rate Graph

External
Dimensions

DBA (Double Action)

DBC (Double Action)

LC (Single Action)

LHA (Double Action)

LHC (Double Action)

LLHE (Double Action)

LHS (Double Action)

LHW (Double Action)

Model No. Block Cylinder | Block Cylinder | Work Support | Swing Clamp | Swing Clamp | High-Power SwingClamp | Swing Clamp | Swing Clamp
(DBA0250-CL) | (DBC0250-CL]) 1C0262-CT | (LHA0360-CCC-0) | (LHC0360-COCD) (LHS0360-COO0) |(LHWO400-COC-0)
(DBA0320-CL) (DBC0320-CO) LC0302-CO (LHA0400-COC0) | (LHC0400-COO-0) (LHS0400-C0-0) |(LHWO480-COC-D)
LC0362-C | (LHA0480-CIC-0) | (LHC0480-CLCL) (LHS0480-CI0) |(LHWO550-COC-)
BZL0100-A LC0402-CO0D | (LHA0550-COO-0) | (LHCO550-CCC-0) (LHS0550-CCC-0)
LC0482-CO00
LCO552-CO0
LC0652-CO0
DBA0250-C DBC0250-CO LHA0360-COC-0 | LHC0360-COCD | LHE0300-CL | LHS0360-CCIC-C | LHWO40C-CLC-C
DBA0320-CO DBC0320-CO LHA0400-COC-0 | LHCO400-COCD | LHE0360-CC) | LHS0400-COC-O | LHW0480-COC-C
BZL0100-B LHA0480-CL- | LHC0480-CCC | LHE0400-CC | LHS0480-CCC- | LHWOS550-COC-D
LHA0550-CO-0 | LHCO550-COCT | LHE0480-CC | LHS0550-C-0
LHE0550-CC]
BZL0200-A (DBA0400-C) | (DBC0400-CL) | LC0752-COCOD | (LHA0650-CO-D) | (LHCO650-CCIC-D) (LHS0650-CCC-0) | (LHWO65C-CO0-)
(DBA0500-CLJ) (DBCO500-CC) | LC0902-COC-O | (LHA0750-COC-0) (LHS0750-C0-0) | (LHWO0751-COC-0)
BZL0200-B DBA0400-C[ DBC0400-C[] LHA0650-CC0- | LHC0650-COCHC LHS0650-COC-0 | LHWO06SC-COCO
DBA0500-CLJ DBC0500-CO LHA0750-CC-C LHS0750-COC-0 | LHW0751-COC-0
BZL0300-A (LHA0900-CC-0) (LHS0900-CCIC-0)
(LHA1050-COC-0) (LHS1050-COC-0)
LHA0900-CC-0 LHS0900-CC-00
BZL0300-B LHA1050-CO-0 LHS1050-COC-0
Model No. LT (Single Action) | LG (Single Action) | LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKW (Double Action) | LM (Single Action) | LJ (Single Action)
Swing Clamp | Swing Clamp Link Clamp Link Clamp | High-PowerLinkClamp |  Link Clamp Link Clamp Link Clamp
LT0301-CC-0 | LG0301-CO-0 | (LKA0360-CLI-D) | (LKC0400-CC-0) | LKEO300-CO  |(LKWO40C-COO-D)|  LM0300-CL LJ0302-C[J
LT0360-CO-0 | LG0360-CO-0 | (LKA0400-COC) | (LKC0480-CC-D) | LKE0360-CO  |(LKWO0480-COC-0)|  LM0360-CO LJ0362-CO]
BZL0100-A | LT040C-C[-0J | LGO40O-CO-O | (LKA0480-COCH) | (LKC0550-CL-L) | LKE0400-CO  |(LKWOS50-COC-)|  LM0400-CL LJ0402-CO
LT0480-CU-0 | LG048-C-0 | (LKA0550-COC-0) LKE0480-CJ LM0480-C[I LJ0482-C[J
LT0550-CO-0 | LGO550-CO-0 LKE0550-CLJ LMO0550-C[J LJ0552-C[
LKA0360-CLO-0 | LKC0400-C-0 LKWo400-COC-0
BZL0100-8 LKA0400-COO0 | LKC0480-CC-0 LKwo480-CO0-0
LKA0480-CLCHI | LKC0550-CL-J LKWO550-COC-I
LKA0550-CH0
BZL0200-A LT0650-CO-0 | LGO650-CO-0 | (LKA0650-COC) | (LKC0650-CO-) (LKW0650-COO-0)| - LM0650-C LM0652-C[
LT0750-CO-0 | LGO750-CO-0 | (LKA0750-COC-0) (LkW0751-CO00)|  LM0750-CO LM0752-C[J
LKA0650-CLCHI | LKC0650-CL-J LKWo65-COC-I
BZL0200-B LKA0750-C0H0 LKW0751-CO00
LG0900-CO-0 | (LKA0900-CICH) 1J0902-C[J
BZL0300-A
LG1050-CO-0 | (LKA1050-CO00) LJ1052-COJ
LKA0900-CLCH-I
BZL0300-B LKA1050-C000
LL (Double Action) | LLR (Double Action) | LLW (Double Action)
Model No. . ) . ) . .
Linear Cylinder | Linear Cylinder | Lift Cylinder
(LL0360-COC-0) | (LLRO360-COC-C) | (LLWO36C-COIC-)
(LL0400-COT-0) | (LLRO400-COC-C) | (LLWO40C-COC-D)
BZL0100-A | (LL0480-COC-0) | (LLRO480-COC-C-) |(LLWO48T-COC-D)
(LL0550-COIC-0) | (LLR0S50-COC-O0)
LL0360-COC-O | LLRO360-COC-O0 | LLWO360-COO-O
BZL0100-B LL0400-COC-0 | LLRO400-COC-OC | LLWO40D-COC-D
LL0480-COC-0 | LLR0480-COC-OD | LLWO48D-COC-D
LL0550-COC-0 | LLR0550-CO0-00
(LL0650-COC-) | (LLRO650-CCEH)
BZLO200-A 1\ y7so.conn) | weorsocmon)
B2L0200-B LL0650-COC-0 | LLRO650-COC-CLC
LL0750-COC-0 | LLRO750-CO0-0C
(LL0900-CLIC-) | (LLRO900-CLEH)
BZL0300-A (LL1050-COC-) | (LLR1050-CCCC0)
BZL0300-B LL0900-COC-0 | LLR0O900-COC-CL
LL1050-COC-0 | LLR1050-CO0-00
Note: 1. Flow control circuit for double action cylinder should have meter-out circuits for both the lock and release sides

(except model LKE/TLA/TMA). Meter-in circuits can be adversely affected by any air in the system.

Harmony in Innovation

High-Power
Series

Pneumatic Series

Hydraulic Series

Valve / Coupler
Hydraulic Unit

Manual Operation
Accessories

Cautions / Others

Hole Clamp
SFA
SFC

Swing Clamp
LHA
LHC
LHS
LHW
LT/LG
TLA-2
TLB-2
TLA-1

Link Clamp
LKA
LKC
LKW
LMm/L)
TMA-2
TMA-1

Work Support
LD
LC
TNC
TC

Air Sensing
Lift Cylinder

LLW

Compact Cylinder
LL
LLR
LLU

Block Cylinder
DBA
DBC

Centering Vise
FVA
FVD
FVC

Control Valve

;748
BZT
BZX/JZG

Pallet Clamp
VS
VT

Expansion Locating Pin
VFL
VFM
VFJ
VFK

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

894



External
Dimensions

Applicable
Products

Control Valve Model No.

Digest Indication Flow Rate Graph

Specifications

Harmony in Innovation

model BZL

Control Valve Speed Control Valve (For Low Pressure)

895

© Flow Rate Graph < Hydraulic Fluids 1SO-VG32 (25~35°C) >

@ External Dimensions

High-Power
Series

Pneumatic Series

BZL0O100-A : Meter-in BZL0200-A : Meter-in BZL0300-A : Meter-in
jus (Clamp/Cyingen)
Controlled Flow Direction Controlled Flow Direction Controlled Flow Direction ﬁ/?JgSt'ng Screw amp/Lylinder;
crew
10 2 35 [ [ | Exclusive Packing G Thread Valia// Gy
— A — _30 (Included) Hydraulic Unit
€8 Pressure Loss 5MPa |~/ =20 Pressure Loss 5MPa £ [ Pressure Loss 5MPa A TERS (‘/ /
£ LV_V_V/ € L’_'_'V £25 7~ S N Manual Operation
26 P P ~ 215 (Pre P 220 { Pressure Loss 3MPa \)// = ; Accessorles
% ressure Loss 3M y / % ressure Loss 3MPa - % 15 i e/ A ﬁ - I%I —
< 4 >/ —1 <10 r < - )S// T © g H— Cautions / Others
5 Pressure Loss 1MPa - / g Pressure Loss 1MPa / _— 210 ﬂ'eﬁﬂ'@l\/wa] //, — — M — \ 5 / $ {| P2 Port
= 2 =X x5 =T ’//’ [ }? T Hex Socket L | Y Clamp Side
<~ - el | 1 Al P
0 0 0 y Hole Clamp
0 1 2 3 4 0 1 2 3 4 0 1 2 3 4 S 24 § % SFA
«Closed  Number of Turns of Adjusting Screw  Opened— «Closed  Number of Turns of Adjusting Screw  Opened— «Closed  Number of Turns of Adjusting Screw - Opened— CLOSE]  [OPEN J _’. E ,—)é—t—‘ SEC
Hexagon K max.H D / T ]
Hexagon A max.C F SwingClamp
P1 Port LHA
Free Flowing Direction Free Flowing Direction Free Flowing Direction Hydraulic Pressure LHC
10 25 35 Supply Side (mm) LHS
I N (J_‘ﬁ LHW
— s Fully Opened 1 0 Fully Opened 230 lFuIIyOpene}d& — Model No. BZL0100-[J BZL0200-[] BZL0300-[] e
£ 7 £ ; E® T - A 14 18 22 AL
36 — 315 3 L .. . . .
o // - 2 1--- 2% =~ © Machining Dimensions of Mounting Area £ 55 41 2 TLE-2
S -~ S -~ 15 ST C 15 16 19 TLA-
€4 / =T [Fully Closed <10 == [Fully Closed E 7+ [fully Closed)
- u 0se - u jose o u Ose
§ 5 /.- y § s //_— y u_§210 /‘,' y D 12 13 16 Link Clamp
[ < SI/° N-310 E 8.5 9.5 11 LKA
0 0 0 . LKC
o 1 2 3 4 5 6 o 1 2 3 4 5 & o 1 2 3 4 5 6 71 UThread min.P F (11.6) (15.1) (17.6) Lo
Pressure Loss (MPa) Pressure Loss (MPa) Pressure Loss (MPa) (Pr?ﬂatrggttmw P2 Port G c1/8 Gl 638 LM/LJ
Clamp Side H E 3 3 TMA-2
J 35 35 5 TMA-1
K 10 10 13 Work's "
BZL0100-B : Meter-out BZL0200-B : Meter-out BZL0300-B : Meter-out o » 02 L 3 3 p .
Rk 3|
2| X i i LC
Controlled Flow Direction Controlled Flow Direction Controlled Flow Direction é g © N © M (Nominal XPitch) oS ereL 0L N
10 25 35 /\\Q( 04 N 1.5 15 17.5 T
. T ] o L] 3 L [ | ‘ P 85 1% 13 s
é Pressure Loss SM@ / ; Pressure Loss SMVPiJ - £25 [ Pressure Loss SMPi] ,/ ‘ | Q 9 15 13 Lift Cylinder
36 / 315 /! 250 ‘ ‘ N yaWa ‘ R (Flat Surface Area) 16 20.5 24.5 LLw
o Pressure Loss 3MPa_y ] o %m y T Pressure Loss 3MPavj /’/ oV P1 Port . i
& 4 / &10 I /// &15 — /7 Q Hydraulic Pressure S 10 13.5 17 Compact Cylinder
_% X Pressure Loss 1MPa 4 | _% s @ressure' Loss 1'MP‘a_J P P _% 10 |—(Pressure Loss 1MPa | 7 /// Supply Side T 8.7 115 15 L
. o< . 2~ “ 5 u G1/8 G1/4 G3/8 LLR
— LLU
0 O Lo 0 Lo ~ ~ >
0 1 2 3 4 0 1 2 3 4 0 1 2 3 4 b 2t ek it DP
«Closed  Number of Turns of Adjusting Screw - Opened— «Closed Number of Turns of Adjusting Screw  Opened— «Closed  Number of Turns of Adjusting Screw  Opened— w 25~5 35~7 45~9 DR
DS
Notes : oT
1. Since the Y~ /v area is sealing part, be careful not to damage it. Block Crlind
Free Flowing Direction Free Flowing Direction Free Flowing Direction 2. Since the v/ area is the metal sealing part of BZL, be careful not to damage it. (Especially when deburring) %
10 25 35 3. No cutting chips or burr should be at the tolerance part of machining hole. DBC
=8 Fully Opened =20 %W‘@ 30 ‘ 4. As shown in the drawing, P1 port is used as the hydraulic supply and P2 port as the clamp side. -
£ N = ‘ y £25 Fully O% 5. If mounting plugs or fittings with G thread specification available in the market, the dimension '3 1' should be 12.5. Centering Vise
3 3 3 o2 FVA
:“;6 P —'}{'_—— §15 / --" :';20 // —‘J—‘ e
E 4 === ) 10 ~ =Rl &1 v Fully Closed FvC
= L J]-- Fully Closed z / =" i = P ully Close A
_- L~ y Closed 10 &
e - B B | || 300 7 © Notes
0 2 0 . 0 1. Please read "Notes on Hydraulic Cylinder Speed Control Circuit" to assist with proper hydraulic circuit design. EZE
0 1 2 3 4 5 6 0 1 2 3 4 5 6 0 1 2 3 4 5 6 Bzt
If there is something wrong with the circuit design, it leads to the applications malfunction and damage. (Refer to P.1238) BZX/JZG
Pressure Loss (MPa) Pressure Loss (MPa) Pressure Loss (MPa) _—
2. Itis dangerous to air bleed during operation under high pressure. It must be done under lower pressure. Pallet Clamp
(For reference: the minimum operating range of the product within the circuit.) Vs
VT
Expansion Locating Pin
VFL
VFM
VFJ
VFK

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

896



899

Control Valve AirBleed Valve

@ Model No. Indication (Air Bleed Valve)

BZXOO
0
(12|

G Thread Size

model BZX

1 : Thread Part G1/8A Thread

2 Thread Part G1/4A Thread
3  : Thread Part G3/8A Thread

Design No.

Thread Part

0 : Revision Number

®© Circuit Symbol

© Specifications
Model No. BZX010 |  BZX020 | BZX030
Max. Operating Pressure MPa 25
Withstanding Pressure MPa 375
G Thread Size G1/8A ‘ G1/4A ‘ G3/8A
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature C 0~70
Tightening Torque for Main Body N-m 10 ‘ 25 ‘ 35

Notes: 1. Do not over loosen the plug during air venting.
(Do not loosen for more than 2 turns from the fully closed position.)
2. Itis dangerous to have air venting operation under high pressure. It must be done under lower pressure.
(For reference: the minimum operation pressure range of the product within the circuit)
3. Refer to the machining dimensions for BZL mounting area.

Control Valve
Digest P.891

Model No. Indication

@ Applicable Products

Specifications

Applicable Products

External Dimensions

Harmony in Innovation

High-Power
Series

Model No DBA (Double Action) | DBC (Double Action) | LC (Single Action) | LHA (Double Action) | LHC (Double Action) | LHE (Double Action) | LHS (Double Action) LHW (Double Action) o 1/ ¢ s
" | Block Cylinder | Block Cylinder | Work Support | Swing Clamp | Swing Clamp | High-Power SwingClamp | Swing Clamp | Swing Clamp
DBA0250-CO DBC0250-CO LC0262-CO LHA0360-CL-0 | LHC0360-COO-0 | LHE0300-CO | LHS0360-CCC- | LHWO0400-CO0-D
DBA0320-CO DBC0320-CO LC0302-CO LHA0400-CL-0 | LHC0400-COC-0 | LHE0360-COI | LHS0400-COC-0 | LHW0480-CO0-O
BZX010 LC0362-C0 LHA0480-CL-0 | LHC0480-COC-0 | LHE0400-CO | LHS0480-COC-D | LHWO55C-COO-O Valve / Coupler
LC0402-COD0 | LHA0S50-COC-D | LHC0550-CO0-0 | LHE0480-CO1 | LHS0550-CO0-0 Hydraulic Unit
LC0482-CC-0 LHE0550-C[J Manual Operation
LC0552-C -0 Accessories
LC0652-CI] Cautions / Others
BZX020 DBA0400-CL DBC0400-CL0 | LCO752-COC-O | LHA0650-COI-I | LHC0650-COC-0 LHS0650-COC-0 | LHWO0650-CO0-0
DBA0500-C DBC0500-C0 | LC0902-COC-I | LHA0750-CC-0 LHS0750-COC-0 | LHWO0751-COC-0
LHA0900-C[I- ¥ ! Hole Clamp
BZX030 ooo LHS0900-CC-0 i
LHA1050-C0 LHS1050-COC-0 e
Model No LT (Single Action) | LG (Single Action) | LKA (Double Action) | LKC (Double Action) | LKE (Double Action) | LKW (Double Action) | LM (Single Action) | LJ (Single Action) Swing Clamp
" | Swing Clamp | Swing Clamp Link Clamp Link Clamp | High-PowerLinkClamp |  Link Clamp Link Clamp Link Clamp LHA
LT0301-C-0 | LG0301-CC-0 | LKA0360-CO-0 | LKC0400-CO-0 LKE0300-C) | LKW040C-COC-0 | LM0300-C LJ0302-C[) LHC
LT036[-C-0 | LGO360-CL-0 | LKA0400-CO-0 | LKC0480-C-0 LKE0360-C] | LKW048[-CO0-0 | LM0360-C[I LJ0362-C[] t:\SN
BZX010 LTO400J-C[-00 | LGO400-C-J | LKA0480-COC- | LKC0550-CC- LKE0400-C0 | LKWO550-COC-0 | LM0400-C LJ0402-C[J LT/LG
LT0480-C-0 | LG04801-C-0 | LKA0550-COC-0 LKE0480-C[] LM0480-C[J LJ0482-C[] TLA-2
LTO550-CO-0 | LGO550-CO-0) LKE0550-C] LM0550-C[J LJ0552-C[) TLB-2
BZX020 LTO650-CO-0 | LGO650-C- | LKA0650-COT-0 | LKC0650-C-0 LKWO0650-CO0-0 | LM0650-C[ LJ0652-C[] TLAT
LTO750-C-00 | LGO750-CO- | LKA0750-COC- LKW0751-COC-0 | LM0750-CI LJ0752-C[J Link Clamp
LGO90C-COD | LKA0900-COD- 1J0902-C LKA
BZX030 LKC
LG1050-C-0 | LKA1050-COC-0 LJ1052-C0) LKW
LL (Double Action) | LLR (Double Action) | LLW (Double Action) LM/L)
Model No. TMA-2
Linear Cylinder | Linear Cylinder |  Lift Cylinder TMA-1
LL0360-COC-0 | LLRO360-CC-0-0 | LLWO36[-COC-0 S
Work Support
LL0400-COC0 | LLR0400-COTOHI | LLWO400-COD] L
BZX010 LL0480-COC-0 | LLR0480-COCOJ | LLWO48H-COC-O0 Lc
LL0550-COC-0 | LLROS50-COC-C TNC
TC
Air Sensing
BZX020 LL0650-CO0-0 | LLRO650-COCI-D Lift Cylmder
LL0750-COC-0 | LLRO750-COCO-0 LLW
BZX030 LL0900-COC-0 | LLRO9OO-COO-CD Compact Cylinder
LL1050-COC-0 | LLR1050-COC-C0 L
LLR
LLu
DP
DR
@© External Dimensions DS
Exclusive Packing (Included) R
Block Cylind
Body (Clamp / Cylinder) %
Lock Nut Plug DBC
M6 (3 types) M6X1
1 G Thread (mm)  Centering Vise
Model No. BZX010 BZX020 BZX030 FVA
\ - A 14 18 22 FVD
f\ o W FvC
< S = A Ny == B 155 20 24 S
1] C 198 206 206
Ll , D 93 10.1 10.1 BzL
- BZT
36 —a E 5> 63 63
Hex, Socket 3 38 E } G Sl S =0 Pallet Clamp
Hexagon 10 D 10.5 VS
Hexagon A C VT

Expansion Locating Pin
VFL
VFM
VFJ
VFK

Pull Stud Clamp
FpP
FQ

Customized
Spring Cylinder

DWA/DWB

900



901

Control Valve GThread Plug

© Model No. Indication (G Thread Plug with Air Bleeding Function)

JZGOO
0
(12|

G Thread Size

model JZG

1 : Thread Part G1/8A Thread
2 Thread Part G1/4A Thread
3  : Thread Part G3/8A Thread

Design No.

Thread Part

0 : Revision Number

© Specifications
Model No. JZG010 | JZG020 | JZG030
Max. Operating Pressure MPa 35
Withstanding Pressure MPa 42
G Thread Size GI/BA | GI/AA | G3/8A
Usable Fluid General Hydraulic Oil Equivalent to ISO-VG-32
Operating Temperature °C 0~70
Tightening Torque | Female Thread Side Material : Steel 10 25 35
for Main Body N-m | Female Thread Side Material : Aluminum (For LT/LM#1) 8 20 28

Notes: 1. Itis dangerous to have air venting operation under high pressure. It must be done under lower pressure.

(For reference : the minimum operation pressure range of the product within the circuit)
2. Refer to the machining dimensions for BZL mounting area.
% 1. Body material of LT/LM is aluminum alloy, so install it with the tightening torque for aluminum.

Control Valve
Digest P.891

© Applicable Products

Model No. Indication

Specifications

Applicable Products

External Dimensions

DBA (Double Action)

DBC (Double Action)

LC (Single Action)

LHA (Double Action)

LHC (Double Action)

LHE (Double Action)

LHS (Double Action)

LHW (Double Action)

Harmony in Innovation

High-Power
Series

Model No. Pneumatic Series
Block Cylinder | Block Cylinder | Work Support | Swing Clamp | Swing Clamp | High-Power SwingClamp | Swing Clamp | Swing Clamp
DBA0250-CO DBC0250-C0I LC0262-C0 LHA0360-COC-0 | LHC0360-COC-0 LHE0300-CO | LHS0360-COC-0 | LHW0400-CO0O
DBA0320-CO DBC0320-C0I LC0302-CO LHA0400-COC-0 | LHC0400-COC-0 LHE0360-CC] | LHS0400-COC-0 | LHW0480-CO0-O
LC0362-C0 LHA0480-COC-0 | LHC0480-COO-0 LHE0400-CO | LHS0480-COC-0 | LHWOS50-CO0O Valve / Coupler
J2G010 1C0402-CO0-0 | LHA0S50-COCD | LHCO550-CO0 | LHE0480-CC | LHS0550-COC-0 Hydraulic Unit
LC0482-C-I LHE0550-CL Manual Operation
LC0552-C00 Accessories
LC0652-CLO Cautions / Others
126020 DBA0400-CLI DBC0400-C0 | LC0752-COC-D | LHA0650-COC-0 | LHC0650-CLC-0 LHS0650-COC-0 | LHWO0650-CO0-0
DBA0500-C DBC0500-C] | LC0902-COC-0 | LHA0750-COC-0 LHS0750-COC-0 | LHWO0751-CO0-0
126030 LHA0900-C -0 LHS0900-CC0-0 %
LHA1050-CC-0 LHS1050-COC-0 T
Model No. LT (Single Action) | LG (Single Action) | LKA (Double Action) | LKC (Double Action) | LKE (Double Action) |LKW (Double Action) | LM (Single Action) | LJ (Single Action) Swing Clamp
Swing Clamp | Swing Clamp Link Clamp Link Clamp | High-Power LinkClamp |  Link Clamp Link Clamp Link Clamp LHA
LT0301-C-0 | LG0301-CO-0 | LKA0360-COC-0 | LKC0400-CCHO LKE0300-CO) | LKWO0400-COTH | LM0300-CO) 1J0302-CO) SR
LTO360-CO-0 | LGO36[-C-00 | LKA0400-COI-0 | LKC0480-CO-0 LKE0360-Cl | LKWO0480-COTHI | LM0360-CLJ 1J0362-CO) t:swi
JzGo10 LTO400-CO-0 | LGO40C-CO-00 | LKA0480-COI-0 | LKC0550-C-0 LKE0400-C] | LKWO550-COTHI | LM0400-CO) LJ0402-CO e
LT0480-CO-0 | LG048-C-00 | LKA0550-CO0-0 LKE0480-C[J LM0480-C[J LJ0482-C] TLA-2
LTO550-CO-0 | LGOS5C-CO-00 LKE0550-CJ LMO0550-C[J LJ0552-C0) _TLB-2
126020 LTO650-CO-0 | LGO65C-CO-00 | LKA0650-COI-0 | LKC0650-C-0 LKWO0650-CO0-0 | LM0650-CO) LJ0652-C0] ' AL
LT0750-CO-0 | LGO750-CO-0 | LKA0750-CO0-0 LKW0751-CO00 | LM0750-C LJ0752-CO Link Clamp
176030 LG0O90U-C-0J | LKAO900-COID 1J0902-C t::é‘i
LG1050-C-0 | LKA1050-COC-0 LJ1052-C0) w
Model No. LL (Double Action) | LLR (Double Action) | LLW (Double Action) | TLA-2 (Double Action) | TLB-2 (Double Action) | TLA-1 (Single Action) | TMA-2 (Double Action)| TMA-1 (Double Action) %
Linear Cylinder | Linear Cylinder | Lift Cylinder | Swing Clamp | Swing Clamp | Swing Clamp Link Clamp Link Clamp IMAT
LL0360-COC-0 | LLRO360-COC-CI | LLWO360-CO0-D | TLA0401-2CC-0 | TLB0401-2CC-I |  TLA0402-1CO | TMA0250-2C00 | TMA0250-1C[I Work Support
LL0400-COC-0 | LLROA0O-COO-CI | LLWO40C-COO-D | TLA0601-2CC-0 | TLB0601-2CC-I | TLA0602-1CO | TMA0400-2C0 | TMA0400-1C ST
JZGO10 LL0480-COC-0 | LLR0480-COC-OO | LLWO48[-COO-C | TLA0801-2CC- | TLB0O801-2CC-0 | TLA0B02-1CO | TMA0600-2CI | TMA0600-1CO ic
LLO550-COC-0 | LLROSS0-COO-C0 TLA1001-2CC-0 | TLB1001-2CCHO | TLA1002-1CO | TMA1000-2CC1 | TMA1000-1COI TNC
TLA1601-2CC-0 | TLB1601-2CC-0 | TLA1602-1CO ac
LL0650-COC-0 | LLR0650-COC-C TLA2001-2CC-0 | TLB2001-2CCHD | TLA2002-1CC) | TMAT600-2CC] | TMAT600-1C [\,
J2G020 LL0750-COC-0 | LLRO750-COCCD TLA2501-2C0H0 | TLB2501-2CCHI | TLA2502-1C00 | TMA2500-2CCH | TMA2500-1CC0 — [|w
TLA4001-2CC-0 | TLB4001-2CCH0 | TLA4002-1C0 | TMA3200-2CC1 | TMA3200-1C0I Compact Cylinder
LL0900-COC-0 | LLRO90O-COO-CO I
JZG030 e
LL1050-COC-0 | LLR1050-CO0-C0 LLR
LLu
DP
DR
@© External Dimensions DS
b
Block Cylinder
DBA
Exclusive Packing L
7 (Included) (mm)  Centering Vise
— Model No. JZGO10 J2G020 J2G030 FVA
p-) A 14 18 22 IE\\;CDi
3 £ B 35 45 4.5 —
5 C 8 9 10
D 5 6 8 gii
Hex. Socket D - G G1/8A G1/4A G3/8A
Pallet Clamp

Vs
AN

Expansion Locating Pin

Pull Stud Clamp
FpP
@
Customized
Spring Cylinder
DWA/DWB

902



Manifold Block
Applicable Model/Application Examples

Manifold Block
Model No. Indication/External Dimensions

Manifold Block model WHZ-MD/LZY-MD/LZ-MS/LZ-MP KOSMEK

Harmony in Innovation

©Manifold Block for WCA/WCE/WHA/WHE c A0 ©Manifold Block for LM/LJ/LT/LG ; oo o
K ARy H 4ol “
Ne) © Pneumatic Series
Model No. Indication Model No. Indication
Hydraulic Series
WHZ 048 0 - MD @/\éﬁ . LZ 048 0 - MS ﬂf\é J1. '
Size 1 Design No. N Sioe 1 Design No. e Valve / Coupler
(Refer.to (Revision Number) b4 o % (ReferFo (Revision Number) f % Hydraulic Unit
e \J = C0.6 C0.6 plovne e \J = C0.6 C0.6 Manual Operation
&2 N2 \‘ A I oui Cautions / Others
-rin
Ny | ‘ Ny Z Surface (Included) 9@ P Surface (Inclu%ed)
Screw Locator
(mm) (mm)
Model No. WHZ0600-MD WHZ0320-MD WHZ0400-MD WHZ0500-MD WHZ0630-MD Model No. LZ0300-MS | LZ0360-MS | LZ0400-MS | LZ0480-MS | LZ0550-MS | LZ0650-MS | LZ0750-MS | LZ0900-MS | LZ1050-MS 7
Corresponding Item WCE0602 WCA0321 WCE1002 | WCA0401 WCE1602 | WCA0501 WCE2502 | WCA0631 WCE4002 Corresponding Item | LT0301/LG0301 |LT0360]/ LG036C] |LT040C) / LGO40L1|LT0480) / LG048L1 | LT0550)/ LGO5SC) | LT065C)/ LGO6S | LT0750/LG0750 | LGO90 LG1050 ’C’éacnatt‘ian';ﬁ’;“m”
Model Number WHE0600 WHA0320 WHE1000 | WHA0400 WHE1600 | WHA0500 WHE2500 | WHA0630 WHE4000 Model Number | M0300/1J0302 | LM0360/LJ0362 | LM0400 /LJ0402 | LM0480/1J0482 | LM0550,/1J0552 | LM0650// L0652 | LM0750/LJ0752 | LJ0902 LJ1052 ATV
A 23 25 27 31 35 A 48 51.5 56.5 62 70 82 93 107 122 .
B 54 60 67 77 88.5 B 34 40 45 51 60 70 80 95 110
C 45 50 58 68 81 C 18 20 20 27 30 32 37 45 50 W
D 40 46 54 64 77 D 30 36 40 48 55 65 75 90 105 T
H 31.5 35 38 43 48 E 28.5 31.5 34 36.5 40 47 53 59.5 67
J 225 25 29 34 40.5 F 19.5 20 225 25.5 30 35 40 475 55 ﬁ
K 34 39 45 53 65 Hx 30 314 34 40 47 55 63 75 88 TMZ-1MB
Nx 26 28 31 36 4 Hy 23 314 34 40 47 55 63 75 88 CTMzZome
Ny 9 10 13 15 20 J 4.5 4.5 5.5 5.5 6.8 6.8 9 1 14 oz
R 5.5 5.5 5.5 6.5 6.5 L 20.5 235 26 30 335 39.5 45 52.5 60 .
O-ring 1BP5 18P7 18P7 18P7 18P7 M 3 5 5 0 0 0 0 0 0 Hanifold Block/
Mass kg 0.1 0.1 0.1 0.2 0.2 O-ring 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 DZ-R
Notes: 1. Material:A2017BE-T4 Mass kg 0.1 0.2 0.2 03 04 0.5 08 1.2 17 DZ-C
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the A dimensions as a reference. Notes: 1. Material:S45C DZ-P
3. If thickness other than A is required, perform additional machining on surface Z. Please refer to the drawing. 2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the C dimensions as a reference. bz
3. If thickness other than C is required, perform additional machining on surface P. Please refer to the drawing. lzs
B 46K c*oi LZ-5Q
©Manifold Block for LKA/LKC/LKE/LHA/ ] 2 ©Manifold Block for LC/TC C L oR A0l TNZS
LHC/LHE/LHS/LL T—T © r_Kx1 s
WNZ-
Model No. Indication 67\65‘ i Model No. Indication {1\/\@ _ P o
LZY 048 0 - MD LZ 048 0 - MP 2 e
Size 1 Design No. - < % Size 1 Design No. i % Fm % -
gﬁiev:ntr?g table) (Reviion Numben @ @ Y| C06 CO6 gﬁgev:nt:g table) (Reviion Numben >>E {D ) ,@ = T CO6 C06 Pressure Gauge
& 1 & 3 — 4% &y I JGA/JGB
u (Included) | Ny P Surface \Mg_ Manifold
(Included) X
(mm) (mm)
Model No. LZY0360-MD | LZY0400-MD | LZY0480-MD | LZY0550-MD | LZY0650-MD | LZY0750-MD | LZY0900-MD | LZY1050-MD Model No. LZ0260-MP | LZ0300-MP | LZ0360-MP | LZ0400-MP | LZ0480-MP | LZ0550-MP | LZ0650-MP | LZ0750-MP | LZ0900-MP  coupler Switch
LKA0360/LKE0360 | LKAO400/LKC0400 | LKA0480/LKC0480 | LKA0550/LKC0550 | LKAO650/LKC0650 | LKAO750 LKA0900 LKA1050 Corresponding Item | LC0262 LC0302 LC0362 LC0402 LC0482 LC0552 LC0652 LC0752 LC0902 s
Corresponding Item |LHA0360/LHC0360 | LKEQ400/LHA0400 | LKEO480/LHA0480 | LKE0550/LHA0550 | LHA0650/LHC0650 | LHAO750 LHA0900 LHA1050 Model Number TC0402 TC0482 TC0552 TC0652 TC0752 -
Model Number | 4rg360,/ LHS0360 LHC0400/LHE0400 | LHC0480/LHE0480 | LHC0550/ LHE0550 LHS0650 LHS0750 LHS0900 LHS1050 A 18 18 20 20 27 30 32 37 45 G-Thread Fitting
LL0360 LHS0400/LL0400 | LHS0480/LL0480 | LHS0550/LL0550 LLO650 LLO750 LLO900 LL1050 B 43 48 51.5 56.5 62 70 82 93 107
A 49 54 61 69 81 92 107 122 C 29 34 40 45 51 60 70 80 95
B 40 45 51 60 70 80 95 110 D 26 30 36 40 48 55 65 75 90
C 20 20 27 30 32 37 45 50 H 26.5 28.5 31.5 34 36.5 40 47 53 59.5
D 36 40 48 55 65 75 90 105 J 16.5 19.5 20 225 255 30 35 40 47.5
E 29 31.5 35.5 39 46 52 59.5 67 Kx 25 30 314 34 40 47 55 63 75
F 20 22.5 25.5 30 35 40 47.5 55 Ky 21 23 314 34 40 47 55 63 75
G 235 26 30 335 39.5 45 52.5 60 Nx 18.5 20.5 235 26 30 335 39.5 45 52.5
H 16 18 22 24 30 32 37 45 Ny 3 3 5 5 0 0 0 0 0
J 314 34 40 47 55 63 75 88 R 34 4.5 4.5 5.5 5.5 6.8 6.8 9 il
K 4.5 55 5.5 6.8 6.8 9 1 14 Yx 18.5 20.5 235 25 28 31 37 42.5 50
O-ring 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7 1BP7 Yy 7 7 8 8 1 13 14 15 15
Mass kg 0.2 0.2 0.3 0.4 0.5 0.8 1.2 1.7 O-ring 1BP5 1BP5 1BP5 1BP5 1BP5 1BP5 1BP7 1BP7 1BP7
Notes: 1. Material:S45C Mass kg 0.1 0.1 0.2 0.2 0.3 0.4 0.5 0.8 1.2

2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the C dimensions as a reference.
3. If thickness other than C is required, perform additional machining on surface L. Please refer to the drawing.

1. Material : S45C
2. Mounting bolts are not provided. Prepare mounting bolts according to the mounting height using the A dimensions as a reference.
3. If thickness other than A is required, perform additional machining on surface P. Please refer to the drawing.

Notes :

1217 1218



